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B (uJ = customer filed a suit against the company’s advertisement on tdi.i.
2022. The claim was of ¥ 50 lakhs. Keeping in view the provision of. Ag;ﬁ
state whether this event should be adjusted in the books of account for the
‘year ended 31" March 2022? Eo (‘!)

: (b) State the acéounting principles with reasons involved in the following
statements : . {10

(i) Advance received from customer is not recorded as sales.

(i) Hard work of management is not directly disclosed on the asset side
of the balance sheet.

(iii) Closing stock is valued at iower of cost or net realisable value.

(iv) Rent for last two month was not paid. But it should be recorded as an
expense for the year ended 31* march 2022.

- (vj Drawing account is debited for cash withdrawn ﬁom.ﬁﬁhkfh!" y
proprietor .for buying a new car., .

(c) Discuss the Fundamental Accounting Assumpttonsasm@@lﬁcﬂ 2iis
-~ y : '-'_.;'-b_m; Y

OR
3 (a) Give any three differences between AS 5 and Ind AS 8. : . ‘(3‘3 &
(b) Write a short note on the following : e s (2;5'x4;j. 5

- (i) Extraordinary items

(i) Contingent Liability and Contingent Asset

% -'(iii,}T Money measurement concept



244

3

(¢) Mr. Shyam who is registered taxpayer in Delhi, purchased goods f‘_“’

(a)

(b)

¢ 5.00,000 from Sham in Jaipur, Rajasthan. He sold those 30045
for €6,00,000 to Mahesh in Delhi, He also purchased a computer
for € 50,000 from Hariom in Jaipur. Assume that CGST and SGST @ 9%
each on intra-state supply and IGST @18% on inter-state transaction. Pass

journal entries for the above transaction. including set-off entries in the books

of Shyam. (5)

A machine is purchased together with spare parts. The price of machinery
is ¥ 15,00,000 and a major spare part for ¥ 2,00,000 which can only be
used on this machinery. As Per As-10(Revised), what is the cost of

Machinery? State with reason. (5)

As per AS 26, how would you deal with thé following situatioﬁs - (10)

(i) During the year 2022-2023, a company spent T 50,00,000 for research

and development for its new product which was launched in the same

year. But after six month this launch was proved to be failure.

(i) A company is showing an intangible asset of T 66 lakhs as on 1-04-

2016. The asset was acquired for ¥ 90 lakhs on 01-04-2012 and
same was available for use from that date. The company has been

following the policy of amortization of intangible assets over the period

of 15 years on straight line basis.

(¢) Give any three differences between AS-2 and IND AS 2. (3)

OR

Pk A
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@) Ram Purchased a machine for 90,000 on 01/04/2017. He charges

(b)

depreciation on SLM and closes his books on december3lst every year.
The machinery has a useful life of 9 years after which residual value of
machinery is 9000. He purchased another machine on 1* May 2018 for
T 45000 with § years useful life and t 5000 residual value. In June 2019, the
first machine was sold for t 40000, Prepare the machinery account for the
3 years ending December 31, 2019, (12)

State with reference to AS-2 (Revised) how will you value the inventories
n the below case -

Raw material was purchased at T 80 per kg. The finished goods in which the
AW material is incorporated is expected to be sold at below cost. 5,000 kgs
of aw material is in stock at the end of the year and replacement cost is
T 60 per kg. (6)

From the following trail balance and additional information, prepare trading and
profit and loss account for the year ended 31* March, 2022 and balance sheet

as on the Date - (18) '

TRAIL BALANCE
As on 31* march, 2022

Particulsr Debit L
e [
®
S (Adjun) 465,000 U
- = 9,75,000
Machinery 4,00,000
T ...: L :: + _': '__'-"-: ; |

e

|
:!i
A
f
;
o

—
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Accumulated Depreciation:

Land and Buildings ;

Machinery 5000
Capital | 80,000
Bad Debts e 1,55,000
Provision for Bag Debis .

: - 5,000
Rent, ;:ntes_ﬁ\nd Ta:ies | M
Expenses 2503;?;]
Depte-cgat!on on Land and Buildings 61250
D:eprecnauan on Machinery 20,000

Life Insurance Premium | 15 5 hUO
lnme Tax 1 5’000
Drawings 10,000
Insurance 5,000
Sundry Debtors and Sundry Creditors 70,000 30,000
Output CGST 29,000 and Output SGST 2 9,000 paid 18,000

12,90,000 12,90,000

Additional information :
(i) Goods withdrawn by the proprietor T 2,000.
(i) Goods amounting to ¥ 3,000 were donated by the entity.
(i11) Goﬁds of ¥ 4,000 were distributed as free samples for advertisement.

(iv) Goods costing ¥ 5,000 were destroyed by fire and insurance company

" accepted a claim for ¥ 4,000, not yet received.

(v) Insurance Prepaid at the end T 2,000.

(vi) Write off further ¥ 2,000 as bad debts and maintain a provision for bad and

doubtful debts equal to 5% of the sundry debtors.

(vii) Sales include Output CGST ¥ 10,000 and Output SGST ¥ 10,000. The
Proprietor is not entitled to input tax credit as he has purchased the goods

from an unregistered supplier.




TR L AR S

: A ! Z : . P T T f-—-‘? uia"::;.'l.t
o 2 balances are obtained from the books of Kanpur CJMQ‘*“‘Q
on 31" March 2015, and 31 March, 2016 : ook (83

31-3-2015  31-3-2016

| | 80,000 85500
Fumniture : 40,000 30,600

ARSI S

Ady:_u".ce; Subscription 1,500 B 1,000
AHBars of Sybscﬁptinn . 3,000 ‘ i 5,000
Prepaid _'Equgs@ 8,00 | 1,000
Outstanding Expenses 5‘.000_ Wt T 200;

Sports Equipment 24,000

Investments -
oks ; ROREASE T - 15,000 ¥
| 16,000

Consider the following information. relev‘anf to the year 2015 1.5

(i) Depreciation provided for the year

-------
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(ii) Some old furniture standing in the books for € 6,000 on 1+ april, 2015 was
sold for ¥ 4,000 on the same date.

(i) The club had 300 members on 31* march, 2016 as per the register of
members. No fresh members were admitted during the year but 10 members
left the club on 1% October, 2015, ' |

(iv) Subscription payable — %15 per month.
(v) Donation received for ¥ 5,000 has been capitalised.
(vi) Considerable expenses were paid during the year.

(vii) Capital fund as on 31-3-2015 was ¥ 1,74,300.

. You are required to show the receipts and payments account, the income
and expendlmrc Account for the year ended 31* March, 2016 and Balance
Sheet. - : L i

4. Kanpur Head Office Supplies goods to its branch at Jaipur at invoice price wlnch "

is cost plus 50 %. The following are the particulars related to Jaipur Branch for

L
4t

the year 202?. ‘ ‘ -
P—rcpare: T
B bl (i). Branch Stock Account
| (i) Branch Debtor Accc;unt N I - s | N | g i

(iii) Branch Adjustment Account
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e e 60,000 '
Stock ag Branch On 1-1-2022 - |
PR e = 12000 |
Branch Debtors on 1-1.2022 i
1,86,000 i
Goods received from Head Office at Invoice Price .
3000 |
Goods returried to Head Office
Credit Sales : ' 84000
Allowance To Customers off selling price already adjusted while invoicing - 2000
Cash received from Debtars 90,000
Discount allowed to Debtors 2400
Expenses paid by Head Office.
Rent 2400
Salaries 24000
Petty Cash 1000
l Cash Sales , 1,04,000
[ Stock at Branch on 31122023 : 54,000
(18)

OR

From the following information, prepare Delhi Branch Account in the bmnks of
the head office for the year ending on 3]st March, 2023.

| Balance on 1.04.2023 Cash sent to branch for Expenses ;
Stock at Cost |' 80000 | Rent 24000
Debtors 28000 Salaries 80200
Peny_ Cash 3000 Petty Cash 8000
Fum:{ure 24000 | Insurance 3200
(I;r:i:ud dl;maganfcg 2300 | (from 1.07.2015 o 30.06.2016) - '
tanding Salaries 4200 | Goods R lurne 8[!)0
Eo?idSend 1o Branch at cost 660000 | H.O, :l Cf)st S Soeh R Ex. ! ‘
‘ash Sales 660000 Good :
Credit Sales ' 366000 | ety Expenan pffa?;bﬁfalfuih 100
Cash received fron Debtors by Balances on 31 032923 : S?UG
the Branch 270000 | Stock '
Cash paid by Debiors direct 1o Debtors: : 7
Head Office 44000 agh L

Discount Allgwed 200



«  Goods are sold to customers at cost plus 50%.
«  Depreciation on furniture is to be provided at 10% on WDV Method.
' ' (18)

From the following trail balance, prepare Departmental Trading and Profit &

Loss Account for the year ended on 31" March, 2019 and Balance Sheet as on

the Date :
Particulars Dr. (%) Cr. (D
Stock on 1-4-2019 Department A 60,000
Department B 50,000
Purchases Department A 80,000
Department B 70,000
Sales Department A 2,00,000
Department B § 1,80,000
Wages Department A 15.000
Department B 3,000
Rent 10,000
Salaries ; 16,000
Lighting and Heating ' 6,000
Discounting Allowed 4 1,500
Discounting Received 1,900
Advertising 2,700
Carriage Inwards - ' 1,500
Furniture and Fittings . 11,200
Plant and Machinery 16,000
Sundry Debtors 14,000
Sundry Creditors 10,000
Drawings 2,000
Cash in Hand 11,000
Cash at Bank ; . 70,000
Capual 50,000
4,41 900 4,41.900

The following information is also given :

(i) Rent, Lighting and heating, Salaries and Depreciation are to be apportioned
in the ration of 2 : | between the departments A and B. '

(i) Other expenses and income are to be apportioned on suitable basis.
: i

P.T.O.

s = % i } .
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Stock at 31* March, 2019: Depart

.

-

s OR

> o o =R } ===t
- 5 | & '
- = ] s

-{ Emthquufgﬂﬁaoh;nﬂyoqleas; form B and coOnApnl 1,201

~ onthe following terms:

oy
g b
eeiix
ey, Sl b
.8 .

__': _._"_I |'_ "l.'

o Fau- ﬁiﬁt’l’ér-uf ’machiqqu
Useful life : i 18 years
Annual Lease Rental Payable at

%4,00,00, 7 3,00,000, 7 2,00,000. 2
and ¥ 40,000, gt | o in

(A% L ) : .' 5
Implicit rate of IEIEHL 159, A ' A :



244 : : 11

(b) Explain accounting treatment of operating lease in the books of lessor and
lessee. (6)

1 (af)wm?rlu s, 2022 uﬁm&ﬂm%mwmﬁml
T[W 50 TR TR A AS-4 B WEHR W A @R g a) T

weAl @ 31 WY 2022 2 T B fig wh-wm ¥ e s
=Re? - : (4)

= P e ¥ e el @ S R (10)
(i) wEw ¥ W st @ e @ w0 ¥ o 8 R w2

(s) e = o e = A e @ oRER e v Al e A e
2 | ; :

(i) S A o A A W Y@ R A e A

(iv) Frodt 2 w8 @ fare 1 VA e o o) AT T 31 AW 2022
7 A 9§ @ fg 2w @ w0 ¥ oot fw s e '

(v) 7 e o e g & e e g e e e
faran o B

) AS]%wﬁmmmﬁfﬂtﬂ%ﬁml (‘_‘j
ar

(=) AS-5 3 Ind. AS 8 & d g A e TR
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(i) srmemen o

(ii) swwfesr daan st syt Rl

(i) 1 a1 srawmeom

(iv) arr=erar wiige st fara (Seed)

(%) ﬁmwﬁﬂimﬁmi,aﬁ&a@?mﬁﬁm% ¥5,00,000 ¥ E
T & I8 39 W @ e ¥ iy ) ta,nu,ouoi'h'ﬁmlaﬁw <
%mazsa.oou#wmﬁmrmﬁmﬁ?m-mwﬁw B
Wmmﬁuﬁmwmmm—maﬁwWMIs%ﬂ.

2 (9) v Wi -l @ W w0 w2 e Lt %15,00,000 2
aﬂzn,au,uoawwuam-gaféﬁmmaﬂnﬁmﬁmi‘ﬁw
W A B AS-10 ﬁmaj%aawn,mﬁwﬁmwi?mm
= (s)

h} AS-26 ¥ FER, mﬁﬂﬁr&mﬁﬂﬁa‘fwamﬁﬁﬂ:
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(i) TF W 1-04-2016 W W6 " d supd wafw Wi Bl B st
01-04 - 2012 FY 790 TR A St A w & s aw T Wi  IE
!‘*fﬁ?mﬁnmﬁlmmw%mmwﬂﬂmﬁﬁﬂﬁ
qRETRR @ Rae B AR w1 ae W @ R
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(@) AS-2 3R Ind. AS 2 ® 89 Fr§ AT Few 7T (3)
a1

() T 01704 /2017 T 290,000 ¥ T FMA @A T8 SLM T IFAEH WA HLel
2 3k T T 3) REw T SO a8 A e g #) i I da
safy ¢ af 2 foed @ 7t 1 Fafiee 39 9000 ﬁmua@%ﬁ’#zowaﬁ
usuon#w A T @0, ol 5 o ot Ivdn e gty ik 25000 FARTE
W 9N T 2019 ¥, TEA FT 240000 ¥ A E A 31 Fw, 2019 W FHA
2 R 3 Tl & FHEA A AR A (12)

(@) AS-2 (Faifer) G 3 wa i s AR Ry g wwe A G o S A

FHedl A aowﬁuﬁﬁﬁhiﬁﬂ%mﬂamummmﬁmmmﬁﬁ
2 T AN A T W A W A IHie 21l @ Fa A 5,000 e s ww
w=iE A # 3R Ao w60 T iy fRrehm 21 (6)

3 ffeifta o ddd A SfiRed wEk 9, 31 9, 2022 i w a &@ foe =maRe
sk 7 3l BT e U 39 A0 @ AR A W FaR Fw (18)
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TRiE A ]
g 4,685,000 -
- (warfar) =t 9,75,000
st wiw s

qfEr iR s Lo
et 4,00,000

R AFEe

g 25,000

aeferdy g 5
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e wor S

e it & e s o
g 40,000
v, &t 3R & 20,000
R 5,750

H# At st w1 Heaew i
T w1 A 40000
e e 5,000
S 5,000
JEEEL 10,000
0 . 5,000
Ry &7ar it AR dmEr 70,000 S
ameqe Wsfeadr 29,000 R IITTE vHSACHS 18,000
% 5,000 Wae :

12,90,000 12,90,000
Ffaftaa s :

(i) w=nferer gRr 22,000 = WA Rerem T

(i) =9 gRT 23,000 a&mmmm,ﬁmw 71
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(iv) 6,000 nﬁmﬁwﬁWW%wﬁm mmm&upgoﬁl
wdverr o, S st e e = g R

(v) e ¥ e @ ?2,000 %1 1

(vi) 2,000 ¥ mmimi‘t@uﬁﬂﬁ 3 SR o A =W & 5%
& T wEuE A

‘{vii) AR A sEeqe SifiEd 10,000 s WIeqe vawieEd! 10,000 e %
Wwéﬂﬁﬂzﬂmﬂimaﬁwma@ﬁﬁ
F 7 |0 R

at

31 7 2015 AR 31 A, znmuilmgtwm%aﬂaﬁiﬁmﬁl%ﬂﬂumﬁl

e @ T B (18).
31-3-2015  31-3-2016

2 3

ya 80,000 85,500
AR 40,000 _ 30,600
Fm FEE 1,500 1,000
el &l Tl 3,000 ' 5,000
e o 8,00 1,000
L 3,000 1200
il eana 24,000 21,600
e SENE S 12,000
s | : 15000 16,200

351 16,000 700

BTN
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(i) W oad & e werr e e
{

L] 4,500
HAIR 3,400
| Iy 5,400
T 1,800

(i) 1 5%, 2015 w @l @ ¥ TwC W 6,000 T B HT W iR 39 T
#I 4,000 T2 ¥ ¥ 0

(i) W= % o R sEw 31 9, 2016 %1 @ ¥ 300 TR N A F T R
W T TR Wi T B A, A 10 wew 3 HFTH, 2015 Tl Fog
oiE faan |

(v) 2@ we=amn - 15 v wfy e
(v) == & ¥ ¥ w1 5,00 9 T Yol fr w2

(vi) ﬁﬁmmmmwmwp
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(i) me‘fmm
(i) RET TR Aew

(iii) IR TR S

(iv) =d 2022 ﬂ‘tﬁwmm%ﬂaﬁﬁmwmaﬂ!mﬁéﬂl

1-1-2022 & TG A € 60,000
1-1-2022 31 2@ & GAGR 12000 |
iﬁﬁqﬁmummﬁm%uﬁmﬁ 1.86.000
TeE HHT B A T = 3000
wiee faw! 84000
e F3 TG TEA 2 8GR f ed & aree! B e 2000
>R A U AHal 90,000
FeR @ ge 31 AR 2400
T e gl AT [ Y &

faaan 2400

JaA 24000

e UM 1000

&g 1 faw! 104,000
31-12-20213:’!117@11’#12?6 54,000

an

(18)

L
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[1.04.2022 % wwrar arw s ¥ AT ® AT A
m‘ﬂ'm KO000 A 24000
&ar 28000 | #a 80200
oo Al 3000 | gewT AwE 8000
weftery 24000 | v 3200
e dan 2300 wﬂ:‘: mmg’m
T 4200 | e W 9T WA W 8000
wET ® W AW o ae | 660000 | Rt ganr wran ® o B e | 15000
wE 660000 | SR
#ie Rk 366000 | erar gawT wawT gEwT A $700
T @R dWART & W AW | 270000 | 31.03.2023 W wwrar fy
# s @ ad wionn | &R -
el 2200 | e
qdee dar ?
| WS W W A A 50% v A e 2
mwwm&aw(m)waﬁm}mwm%wmﬂw
W R et :
(18)
5 ﬁhﬁﬁmiﬁiﬁaﬁ,srw,zuwﬁmaﬁgmmi 5 ﬂkmw
B S T W o 29 e daw A |

1-4-2019 &Y Fefs

2,00,000
1,80,000
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R
Lo i
% 554 e e 16,000
Ha o 6,000
Nl we 1,500
1,900
;'ﬂ'l* 2,700
siv 3 1,500
ok e I 11,200
A 16,000
14,000
10,000
m‘! e tﬁl 2,000
o # wd 11,000
e s 70,000
ﬁ i 50,000
4,41,900 4,41,900
Ffofea smed |t & o 2
(i) TR, s e sk e, Aer sk e v A SR B R d 201 @
s ¥ favnfom farar sr )

(i) s &= 3R @ T IvgT AUR W i B s 2

(i) Frfafes e fFe o= 2)
e far 21,000; wE wEen sk AR Wl wwEr 01,2007 B Sk
ffewm awr w5 aﬁtwﬁaﬂmwm%uﬁraﬁnﬁm%ﬂm,mtl

(iv) 319, 2019 = ®FH : fAwmr A 710,000, fsET B 715 000, (18)
ar 2
(3) AandCo. ¥ BandCo. ¥ 1 ¥, 2018 W PR o @ FET 9 W A
o siftrew o 2 - '
PTO.
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2 W sy | 5

TR w1 3w e ' 45,00,000

I9ET T srafir 15 @

afte gt frar 24,00,00, €3,00,000, ¥2,00,000, 60,000 3R 40,000 & HUR
Lo ]

A A FaFiRa W 15%
T R FRE RS, TR, R, A s e % fore waen 0.8696, 07561,

0.6575, 0.5718 3k 0.4972 ¥l

HeawE - A Y vy @ MR W 10% W ad #
(i) = 9 w1 aRarew w21 8 Sl A wzr @ waeh @ o 27

(ii) TETrel St UEeR ® W @A H W 0P w A B A wem? vz
S w2er A ® a8 W A e o @ fw w Itm @ P ade
wiaftear =1 wita #ifre, a8 A9 ¥ fr deEd wE o 31 W 9 B
21 (12)

(@) vzt s wPer @ W@ w@R ¥ oA v R @i wwR @ awen
Fifag) _ Bl
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l. (a) Explain the difference between Cash Basis and Accrual Basis of

Accounting.
° (5)

(b) The following trial balance is extracted from the books of Mr. Ankit as at
31% March, 2022:

(10)

Particulars Dr. Particulars Cr. 1
Balance Balance
: (Rs.) (Rs.)
Opening Stock 17,000 | Capital 95,000
Purchases 55,000 | Creditors 15,000
Sales Returns 5,000 | 10% Bank Loan 10,000
| (raised on 1-10-2021)
Carriage Inwards 1,500 | Sales 1,10,000
Carriage Qutwards 2,000 | Purchase Returns 8,000
Wages 10,000 | Wages Outstanding 2,000
Salaries 18,000 | Salaries Outstanding 3,000
Furniture 20,000 | Discount Received 2,500
Machinery 70,000
Cash in hand and Bank 10,000
Debtors 18,000
Rent, Rates and Taxes 3,200
Insurance - 2,000 -
Bad debts 1,000
Drawings 7,800
Sundry expenses 3,000
Discount Allowed 2,000
2,45,500 2,45,500

Additional information :

(i) Closing stock as at 31st March, 2022 was Rs. 11,000.

(ii) Goods withdrawn by the proprictor Rs. 1,000, not yet adjusted.
(iii) Insurance prepaid at the end Rs. 500.
(iv) Sundry expenses outstanding at the end Rs. 290.

(v) Charge depreciation on furniture and on machinery @ 10% per annum.
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(vi) Write off further bad debts Rs. 1000,

(i) Create provision for bad

Prepare Trading and Profit

2022 and Balance Sheet

and doubtful debts @ 3% of the debtors.

and Loss Account for the year ended 3 1st March

as on that date.

OR
(a) Explain Convention of Full Disclosure and Convention of Materiality.  (5)
(b) From the following Receipts and Payments Account of Haryana Club, prepare

the 10 Income and Expenditure Account for the year ended 3 1st March,

2022 :

(10)
[RW“il'L“ [ Amount | Payments Amount]
(Rs.) (Rs.)
| To balance b/d By Salaries 15,000 |
I Cash 2,000 By Repairs 1,000
|  Bank 18,000 20,000 | By Purchase of Furniture 10,000
| To Donation 5,000 | By Purchase of lnvestments 10,000 |
To Subscriptions 40,000 | By Insurance Premium 600 |
To Entrance Fee 2,000 | By Printing and Stationery 400 |
To Interest on Investments 600 | By Billiards Table 20,000 |
To Sale of Old 200 | By Miscellaneous 1,000
Newspapers Expenses J
By Balance
Cash 1,800 1
Bank 8,000 9,800
67,800 67,800

Additional Information :

(i) Subscription in arrear for the year 2021-22 Rs. 2,000 and subscription
received in advance for the year 2022-23 Rs. 1,200.

(ii) Insurance premium prepaid Rs. 200 on 31st March, 2022,
(iii) Miscellaneous expenses outstanding on 3 I'st March, 2022 Rs. 200.

(iv) Entrance fee is to be treated as revenue income.

P.ID.
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(v) Charge depreciation on furniture al 15% and on billiards table 4 10%,

st March, 2022 Rs. 3,000,

(vi) Salaries outstanding on 31

(vii) Electricity bill payable on 31st March, 2022 Rs. 2,400.

2 (a) Raman purchased a seccond-hand machinery on 1-1-2020 for Rs. 80,000

and also paid Rs. 12,000 for its overhauling. On 31-3-2020, Raman p,iq
Rs. 8,000 towards the installation which was completed on that date. T},
machine was used in operations immediately with effect from 1-4-202¢
Raman provides depreciation on its machinery at 20% p.a. on diminishing
balance method from the date it was put to use and closes its books on 3|
December every year. On 1-10-2021, a repair work was carried out on the

machine and Rs. 5,000 were paid for the same.

The machine was sold on 31-10-2022 for a sum of Rs. 21,000 and an

amount of Rs. 2,000 was paid as dismantling charges.

Prepare Machinery A/c and provision for Depreciation on Machinery A/c
from 2020 to 2022. (7

(b) Give any three points of differences between FIFO and LIFO. (3)

OR

(2) The following are the details of material in respect of a certain item of Modi

Enterprises :

Using perpetual
30-6-2022 acco

inventory system, fi

fding to:

(7
1-1-2022 | Purchases 600 units @ Rs. 20 each
1-2-2022 | Purchases 200 units @ Rs. 24 each
115-2—2022 Sales 200 units @ Rs. 30 each
lﬁji(:)zzl’z Purchases 300 units @ Rs. 30 each
T l‘.:’:a!es 400 units @ Rs. 40 each
T urchases 300 units @ Rs. 40 each
[ 12-6-2022 | Sales 350 units @ Rs_ 50 each

nd out the cost of closing stock as on
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(b) Explain salient features of AS-10 (Re

3. (@) Vidhya has g hire

(b)

(a)

n

() First-in-first-out basis and
(1) Weighted average price basis

vised) relating to Depreciation. (3)

purchase department. Goods are sold on hire purchase

at cost plus 331/

/3% . From the t'ollowing particulars, Prepare Shop Stock
Account, H_p. Debtors Account, H.p. Stock Account and H.P. Adjustment
Account : (7)
T ! Amount {R&L‘
Stock out with H P, customers at S P. 4.000
| Stock at shop at cost 300
Instaliments due 300
1-4-2021 to 31-3-2022

| 500 (This has been included in closing balance in Shop Stock)

Goods repossessed (instalment due Rs 2,000) valued at Rs

Cash received from customers E‘QO%

31-3-202022 q
Instalments due (customers paying) 500
Stock at shop at cost (including goods repossessed) 1,200 |
tock out with H.P. customers at S.P. | 4,600 |
What are the indicators of Finance Lease? (3)
OR

On April 1, 2020, XYZ Ltd. leases equipment for 4 years to ABC Ltd. The
cost of the equipment is Rs. 15,00,000 and has a useful life of 10 years. The

lease payments are to be made as follows : )
Year Amount (Rs.)
1 1,00,000
2 1,40,000
3 1,60,000
- 2,00,000
Total 6,00,000

PTO.
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4. (a)

6

The lease is classified as operating leasc. How W+0u|d this l'easc:: be accounteq
for in the books of the lessor and lessee? Show it by passing journa| entrieg
for the year ended 31* March, 2021 and 2022, as per AS-19: Leases. |
is given that the lease rental is payablt_ﬁ at ”.!ﬂ end f.Jf each lIi.rf:ar. Charge
depreciation for the equipment on straight line basis @ 10% p.a. Lease

Equalisation needs to be done.

Distinguish between Hire Purchase System and Instalment Purchage
System. (3)

Hosiery Ltd. has its branches in Ambala and Ludhiana to whom goog;
are invoiced at cost plus 25%. The following information is availab|.
of the transactions at Ambala Branch for the year ending 31st March,

2022 : (7)
[_I'arlicu'lars Apoynt [Rq
Balance at 1st April, 2021
Stock at invoice price 20,000
| Debtors 6,000
| Petty Cash 475
Transactions during 2021-2022 |
Goods sent to branch at invoice price 2,40,000 [ |
Goods returned to HO at invoice price 7,500 | |
Cash Sales 60,000 |
Credit Sales (Sold at cost + 50%) 90,000 | |

Normal loss at invoice price
Goods pilfered at invoice price
Goods lost in fire at invoice price
Insurance Co. paid to HO for loss by fire at Ambala
Cash sent for petty expenses

Goods transferred to Ludhia
HO at invoice price
Insurance charges paid by HO
Goods returned by debtors
Cash received from debtors
Balance on 31s¢ March, 2023
Petty cash

Debtors

Stock
—_—

na branch under instructions from
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Prepare :

(1) Branch Stock Account;

() Branch Adjustment Account;

(m) Branch Profit & Loss Account

(iv) Branch Debtors Account;

(v) Goods sent to Branch Account.

(b) Explain any three bases of apportionment of expenses.

OR

(3)

(a) From the following details relating to Delhi branch for the year ending 31
March 2022, Prepare Branch Account, and Goods sent to Branch Account

in the books of Head Office. Show your workings clearly:

N

Amount (in Rs.)

Stock on 1-4-2021 25.000
Debtorson 1-4-2021 10.000
Furniture on 1-4-2021 6,000 |
Petty Cash on 1-4-2021 1.000
Insurance prepaid on 1-4-2021 300
Salaries outstanding on 1-4-2021 4,000
Goods sent during the year 2021-22 2.00,000
Cash sales during the year 2,70,000
Total Sales 3,50,000
Cash received from Debtors 65,000
Cash paid by Debtors direct to HO 5,000
Goods returned by branch 2,000
'Goods returned by Debtors 1,000
Cash sent to branch for expenses
Rent @ Rs. 800 p.m. 9,600
Salary @ Rs. 4,000 p.m. 48,000
Petty Cash 2,000
Insurance (for 12 months) up to June 2022 1,200 60,800
Petty Cash expenses 2,200
Discount allowed to debtors 500
Stock on 31-3-2022 15,000

PTO.
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8

Goods costing Rs. 2,500 were damaged in transit and a sum of Rs, 2,000

was recovered by branch from the insurance company in full seltlemeny

the claim.

(b) Give salient features of Dependent Branches.

(3)

5. A, B and C were partners sharing profits and losses in the ratio of 3: 2: |,

31" March, 2022, their Balance Sheet was as follows :

Balance Sheet

(10)

Liabilities | Amount Assets Amount |

(Rs.) (Rs)

Sundry Creditors 30,000 | Cash at Bank 9,500
Bills Payable 5,000 | Stock 15,500
A’s Loan 6,000 | Sundry Debtors 32,000
Reserve fund 12,000 | Furniture 5,000
Profit and Loss A/c 6,000 | Plant 21,000
Capital Accounts A's Drawings 4,000
A 20,000 | B's Drawings 1,000
B 15,000 | C's Capital A/c 6,000
94,000 94,000

The firm was dissolved on that date. Assets realised as follows -

Stock Rs. 12,200; Debtors Rs. 30,100 and Furniture realised Rs. 4,200.

Plant was taken over by A at Rs. 18,000. A contingent liability for bill

discounted is settled at Rs. 600. Realisation expenses amounted to Rs. 600.

C is insolvent and only Rs. 1,900 could be recovered from his private estate.

Prepare necessary Ledger Accounts to clo

vs. Murray.

OR

se the books of the firm. Apply Garner
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9

Sheet as on 31 December, 2022 was

as lollows -

and C share s i
C share profits and losses in the proportion of 4:5: Their Balance 10

(10)
Balance Sheet
1 i:lhi“li(‘ﬂ ‘-‘\“Iﬂ""l I\ ] )
(Rs.) Assels Amount
A’s Capital A/c 15,000 | Cash ll{;'ﬁog
B.,s Capital Ale 12,000 | Other Assets 56000
C’s Capital Alc 3,000 B
A’s Loan 6,000
B’s Loan 3.000
Reserve Fund 6.000 B
Creditors 10,000
Contingent Reserve 4,000
59,000 59,000
The partnership is dissolved and the assets realised are as follows :
First Realisation Rs. 10,000 |
Second Realisation Rs. 20,000 |
Third Realisation Rs, 17,000 |

On the date of dissolution, there was a contingent liability of Rs. 1,000 against

the firm which was settled at Rs. 700 at the time of second realisation. Realisation

expense estimated at Rs. 2,000 but actually came at Rs. 1,500. C took stock

worth Rs. 500 at the time of third realisation.

Prepare a statement, showing how the distribution should be made.

L (&) e R R AEIET B I HUR H A HH T A

(5)

(@) 31ﬂﬁ,2022ﬁﬁaﬁﬁlﬂ§ﬁﬂﬁﬁﬁ%ﬂwﬁﬁmﬁnm:

PO
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10

Particulars Dr. Particulars __T_(:“T‘*-
Balance Balanc,
(Rs.) | (Rs))
Opening Stock 17,000 | Capital ‘m
Purchases 55,000 | Creditors | _-_i_'jhﬁﬁﬁ"
Sales Returns 5.000 | 10% Bank Loan __W
(raised on 1-10-2021)

Carriage Inwards 1,500 | Sales H_I;Td_ﬁﬁﬁ‘
Carriage Outwards 2,000 | Purchase Returns 8,000
Wages 10,000 | Wages Outstanding 2.000
Salaries 18,000 | Salaries Outstanding 3,000
Furniture 20,000 | Discount Received 2,500
Machinery 70,000

Cash in hand and Bank 10,000 o ]
Debtors 18,000 ]
Rent, Rates and Taxes 3,200 IR
Insurance 2,000

Bad debts 1,000 )
| Drawings 7,800
| Sundry expenses 3,000

| Discount Allowed 2,000

| 2,45,500 2,45,500

sgfaffea sl -

(i) 319, 2022 =t 3w =fF 1,000 T =0

(ii) wnferer grr faem wm w1 1,000 w9 w5 ar @ I T st T8

(iil) 39 % 4 W= s00 w9

(iv) fafey =7 @@ sa 200 w42

(v}ﬁmaﬂnﬁaﬂwm%wﬁtﬂﬁﬁmﬂwmﬁimm

(vi) smi = sHer w42 wm A TR 1000 T
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(31) T wedtarmor &% wiwrer aie

() wRwm aww o Pt iy v

- Receipts

11
a1

‘mm‘ﬂﬁﬂ;‘;amqﬁm |

Amount

(5)

NI WA A 31w, 2029 T o W
Wy -

Irl':l:.'lm'u!!. Amount |
- PR (Rh.) o |_H.'£.) 4
To balance b/d By Salaries 15,000
_ Cash _20000 | By Repairs 1 1,000
Bank 18,000 | 20,000 | By Purchase of Furnilure 10,000
To Donation - _ 5,000 | By Purchase of Investments | 10,000 |
To Subscriptions 40,000 | By Insurance Premium 600
To Entrance Fee 2,000 | By Printing and Stationery 400
To Interest on Investments 600 | By Billiards Table 20,000
To Sale of Old 200 | By Miscellaneous 1,000
Newspapers B Expenses
By Balance
Cash 1,800
Bank 8,000 9,800
67,800 67,800
sfafRes w=edl -

(i) =¥ 2021- 22 & o wFm 3w 2,000 ¥ 3R A 2022 - 23 F fw Hfiw
¥ A W gEEgAl 1,200 ¥R #)

(i) 319, 2022 @ dw WfEE i w@ 2001

(iii) 31 %, 2022 = @ ffw = w92 2001

(iv}mwﬁmmﬁ%mimmﬂu

{v)mﬁmﬂm%mﬁﬁmmwm%wﬁuﬂml

(vi) 31 9, 2022 ® ¥ A9 T 3,0001

(vii) 31 %, 2022 1 2 fawed fas € 2,4001

PTO.




12
2A : Sraertz 2 £
26 2020 @1 80,000 mﬂﬂ?ﬁﬂ!ﬁﬂfllﬂﬂﬁ 3T gaeE =

2 (&) WAL~ 3 - 2020 T T 4 & P & 8,000

st = sy M faan 31- o .
mﬂ:T:hﬂfﬁl‘ElEm o i Y 1- 42020 A TEA TAET A I o o
34

A wegETE WO HA B EEAE I ey

s WAl W 20% w79 A AT | .
:qamﬁ#aﬁmﬁﬁaﬁ?mamslﬁwa% MFWT{QW%IM
1—no-znztaﬁaﬁ#aﬁwaﬂmﬁﬁwmwMmﬂ.smmm
st A ) WA ) 31- 10 - 2022 21,000 wqd % Ul A A T oar sk

wfi @et @ e ® w9 A 2,000 F NI fHAT T An
2020 ¥ 2022 dF WHAY @A IR AAAG W AFUEE @ fow wEue dan
g (7)
(@) WA S A D Ao FR D R G g awEe (10)
an

(&) 6 gemwesds A v Pftas @ @ wau A it @ o Feafatas 2

[ 1-1-2022 [ Purchases 600 units @ Rs. 20 each
| 1-2-2022 | Purchases | 200 units (@ Rs. 24 each
| 15-2-2022 | Sales 200 units (@ Rs. 30 each
1-4-2022 | Purchases 300 units @ Rs. 30 each
15-4-2022 | Sales 400 units @ Rs. 40 each
1-6-2022 | Purchases 300 units @ Rs. 40 each
15-6-2022 | Sales 350 units @ Rs. 50 each

wﬁgmﬁ‘zﬂﬁeummmﬁgq, 30-6-2022 =1 TN TVF B FOE |
w9 Y

(i)wsﬂaqrairw%mh%mmq;
(ii) *nfe sited wwa s
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(3r) faen & Frarn e favi @) fobmn w@ilie oA 33 )% Sfaftera w9 A
miaﬁwﬁmﬁm%,mﬁm,mﬁ.WWﬁ@ﬁtmm

3R 1P FEES T A (7)

3.

Amount (Rs.)

11-4-2021

Stock out with H P. customers at S P 4{;33
Stock at shop at cost 300
Installments due 3
R -3-202 =

1-4-2021 to 31-3-2022 8.000

Cash received from customers _
Goods repossessed (instalment due Rs 2,0{10-) valued ‘Etl Rs.
500 (This has been included in closing balance in Shop Stock)

[ 31-3-202022

Instalments due (customers paying) 500
| Stock at shop at cost (including goods repossessed) 1,200
[ tock out with H P. customers at S.P. 4,600

(a) faw @ * Ghas w1 27 (3)

Adr

(5) 1 37, 2020 T, XYZ &F ¥ ABC & &l 4 9 & fog Igawr 2 w &gy
ITET F A 15,00,000 T B AR 10 WA T IT@RN AT RIS SIEE

ﬁ*‘!ﬂmﬁmmﬂ

Year Amount (Rs.)
1 1,00.000
2 1,40,000
3 1,60,000
4 2.00,000
Total 6,00,000

921 fFmr vy
%mﬂéﬁﬂmam%mmh%mwlw uﬁ’raﬁaﬁa::
Wmﬁaﬁuﬁmmﬁmmaﬂmﬂu (7)

7
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a (%) ﬁﬁﬂﬁﬁhﬂmwmﬁmmi.ﬁ%m%m%%m
e A fhar e 2 31#&,20223ﬁmaﬁ$fﬁzm:miﬁqm

AAEF Iuesr §
Particulars mﬁm‘\
' Balance at Ist April, 2021 o
Stock at invoice price 20,0001
| Debtors ) __?0_56'
Petty Cash 475
Transactions during 2021-2022
Goods sent to branch at invoice price 2,40,000
Goods returned to HO at invoice price 7,500
Cash Sales 60,000
Credit Sales (Sold at cost + 50%) 90,000
Normal loss at invoice price 300 |
Goods pilfered at invoice price 1,500
Goods lost in fire at invoice price 3,000
Insurance Co. paid to HO for loss by fire at Ambala 2,000 |
Cash sent for petty expenses 16,000
Goods transferred to Ludhiana branch under instructions from 6,000
HO at invoice price
Insurance charges paid by HO 1,000
Goods returned by debtors 500
Cash received from debtors 89,500
Balance on 31st March, 2023 ]
Petty cash 425
Debtors 5,500] |
Stock 7
TR i -
(i) wmen =i |
(ii) = FHEE EE
(iii) s @ Fie e @
(iv) maET 3ER |@EE
(v) wmen @@ % S e (1) |
() = R & el e SR % swen #ifmw (3)

HAUar

() 3191 2022 aﬂmﬁ%a@a&i‘ﬁqﬁaﬂm%mﬁﬁhﬁﬁﬂ
RARLLC GG T T O RO R T G w— UL
qaR 1 A ) e vy A few -
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Stockon 1-4200]
— e T
Debtors on ].4.22(:2] —— S (Zin st
Furniture on 1-4-2021 T o
e 10,000
Petty Cash on 14900 e N
Petty Cash on 1-4-2 6,000
Insurance prepaid on 14.202) ————— 1,000
Salaries outstanding on 1-4-203 | 300
Goods sent during the year 203133 sl
Mﬂﬂ&ﬂlc year 2,00,000
Total Sales 2,70,000
Cash received from Debtors 3:23,000
Cash paid by Debiors direct to HO 65,000
‘Goods returned by branch e
Goods returned by Debtors 2.?;.003
| Cash sent to branch for expenses ’
Rent @ Rs. 800 p.m. 9.600
Salary @ Rs, 4,000 p.m. 43:000 A
Petty Cash 2,000 |
Insurance (for 12 months) up to June 2022 1,200 60,800 |
Petty Cash expenses | 2,200 \
Discount allowed to debtors \ 500 \
Stock on 31-3-2022 | 15,000 |
2,500 ® @1 WA TEEA A aforE B ik 2200 w93 ) af @@ @ gl
faver % s gr e @O A A @1 T (7)
(3)

(a) sufud wrEn3 o e fasuany @@Eg

s AR SR C 3 2 1@ U W AN S I WEN Y A AR A 31 A, 2022 F
399 dda i T w9

Balance Sheet

Liabilities | Amount Assets Amount
[ | (Rs) (Rs.)
Sundry Creditors 30,000 | Cash at Bank 9,500
| Bills Payable 5,000 | Stock 15,500
A’s Loan 6,000 | Sundry Debtors 32,000
Reserve fund 12,000 | Furniture 5,000
| Profit and Loss A/c 6,000 | Plant 21,000
| Capital Accounts A's Drawings 4 000
A 20,000 | B's Drawings 1,000
B 15.000 | C's Capital Alc 6.000
S 94,000 94,000

PTO.



262A

35 fofy = v =1 Raes & B wan aofs 9 wfts 20 waw 2

16

I & 12,200; 3R & 30,100 3R wAw @ 7980 © 4,2001 = F 18,000 T F v
a1 o T sAw W faw @ faw v snafer 2aer 600 TR W AT A T 2 mifey
F fore =1 600 vl A aftr o @ fRafir st 3 ik afer @ dae 1,900 B
e o e &1l A g W e D g v 7h R daw B TR
e wng a

AUar

(10)

AB 3R C 4:5:0 @ Sqaa § @ ol wif W e #1 3) Reww, 2022 7 3 A0

¥iie T woR 4t
Balance Sheet
Liabilities Amount Assets Amount |
(Rs.) (Rs.)
A’s Capital Alc 15,000 | Cash 3.000
B’s Capital A/c 12,000 | Other Assets 5$6.000
C’s Capital A/c 3,000
| A’s Loan 6,000
| B’s Loan 3,000
Reserve Fund 6,000
Creditors 10,000
Contingent Reserve 4,000
59,000 59,000
The partnership is dissolved and the assets realised are as follows :
First Realisation Rs. 10,000
Second Realisation Rs. 20,000
Third Realisation Rs. 17,000

farmes = fafa @, w9 @ 1,000 T Ft wwfEE e A R @0 wis 2 w700
+ W Yo faa A wfta @ 2,000 T B @ FAA 1 AT awead A 1,500
T gam C 7 Al wits & W 500 A @ wie fomm

faaeor 94 famar e afey, 7w w9 g¢ va REor daw @if)

(10)

(1000)
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1. (a) “Management is the .effective utilization of
human and material resources to achieve the
enterprise objective.” Discuss this statement and

explain the importance of management in today’s

scenario.

(b) Why is coordination considered as the essence of -

management? Discuss the techniques of effective

coordination.

OR

(a) What is the core argument of contingency theory

' of management? Critically evaluate the contingency |

approach of management.

(b) Define Indian Ethos for- management.

Elaborate the basic principles of Indian Ethos for

management. | (9+9)
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y Objective is comprehensive

. 204

2. (a) Management b

management syst
vities in a systematiC manne

em which integrates many key
r and
managerial acti |

jously directed to achieve the st
s the

ated -
that is consc

objectives. Explain this statement and discus

steps involved in MBO process.

(b) What do you understand by Delphi approach of
| decision making? Explain the process of decision

making in Delphi technique by giving examples.
OR

(a) What do you understand by Industry structure?
Discuss the primary model to assess the structure

of industries developed by Michael. E. Porter.

—

(b) What is Meso Environment? Elaborate the

‘elements of Meso environment of a business firm

by giving examples. : (9+9)

3. (a) A manager frees himself from of his responsibility
the moment he delegates a part of his authority to
his subordinates. Comment on this statement and

discuss the process of delegation of authority.

P.T.O.
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Differentiate between Dfa;::vartmentalizarcion

(b) Also discuss

by, Function 2 ization by product.
by

nd. Departmental

Also give merits and demerits of Departmentallzatlon

by Function.

OR

(a) “Both Formal and Informal Organizations are

ust as two bladesl
kable.”

necessary for group activity J
are essential to make 2 pair of scissors wor

Comment on this statement and differentiate

between formal and informal organisation

(b) Explain Team Organization Structure and Network
Organization Structure. How these organizations
are useful in modern complex business

environmgnt? Also discuss their merits and

demerits. (9+9)

4.  (a) What is Motivation?'Discuss the various types of

factors affecting Motivation.

(b) “Leadership is the essence of Management”
Comment on this statement and explain the variou

types of Leadership styles.
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OR

(a) What is Leadership? Discuss the factors affecting

Leadership.

and differentiate between Economic Added

alue Added techniques of
(9+9)

(b) Explain
Value and Market V

controlling.

5. Read the following case carefully and answer the

questions given below :

Indian Oil Corporation was founded in 1959 as a public
sector undertaking under Ministry of Petroleum and

Natural Gas, Govt. of India. IOC is now global

company with diversified portfolio in almost all streams

of oil & gas, petrochemicals and alternéte energy
sources. It is India’s highest ranking energy PSU in
Fortune-500 list w.ith a rank of 142 in 2022. I0C is
well known for State-of-the-art technologies, Cutting
Edge R&D, Quality consciousness, World Best

Practices, Responsible tapping of energy in all its

P.T.Q.
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jucts 0 customers at affordable
roducts . :
y of p

forms, Deliver ‘
i operation

and Transparency
e of Asia’s
, world-class technology

s. It's R&D center

ates, | '
" finest and offers

at Faridabad is o1
ve advantage througl

etitl
comp icts. It has

d innovative prodt

and process solutions an |
g refineries at

installed Green Hydrogen plants in 1t

Mathura and Faridabad.

Indian Oil’s Vision with Values is “to broaden its

horizons, to expand across new vistas, and infuse new-
age dynamism among its employees.” This vision is
infused with core- values of Care, Innovation, Passion
and Trust. These core values and vision has helped

IOC to grow and achieve success year after year.

IOC is a socially responsible enterprise. It has been
partnering with communities in which it operates by
supporting initiatives in the -areas of health, family
welfare, education, environment protection, potable
water, saﬁitation, empowerment of worﬁen and other

marginalized groups. It spent about Rs. 1,800 crores
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ast four years across healthcare,

ment, womern empoO
JOC has 2

on CSR during |

ion, skill develop

tal sustainability.

werment

educat

and environme
Sustainability and CSR Policy with a vision to operate

es in providing energy solutions to its

its activiti
t is efficient, safe and

customers in a manner tha
mizes impact on environment and enhances

while ensuring

ethical opti

quality of life of the community

sustainable growth of business and nation.

With the guiding spirit of its concern for customer
service, social responsibility and sustainable
development; it has fuel stations (petroleum, CNG and
EV charging stations) spread all over India serving 30

million customers every day.

Health, Safety and Environment are the three pillars
of IOC to ensure safe communities and happy
stakeholders. It complies with all rules and regulations
of Safety, Occupational Health and Environmental

Protection._All refineries are certified \x-rith I1SO:14064

P.T.O.
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for‘sustainable development and for

h and Safety Managem

standards
ent Systems.

Occupational Healt

res and
Compliance with safety systems, procedu

e unit, division

environment laws are€ momtored at th

and corporate levels. The safety and fire prot.ectlon

111 S
measures include a well-sensmzed managgment, focu

on imparting regular training and a culture of safety

throughout the enterprise.

IOC has a Code of Conduct for its Board

'members and top management which emphasizes
professmnahsm utmost care, skill, dlllgence honesty,
good faith and integrity, high morals and ethical
standards. Every officer is required to comply with
its Code of Internal Procedures and Conduct in dealing
Jwith thé securities of the company to prevent insider

training.

Corporate Governance of I0C is based on three pillars
of Transparency, Integrity and A.ccountability. 1t. 1s

intended to set higher standards of ethical ahd
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' cimize valu
responsible conduct of the company t0 maximi e

It aims to strengthen the

for all stakeholders.
I0C’s

relationship of trust with 1its stakeholders.
governance structures and processes are duly evolved

and adopted from time to time reflecting emerging

best practices.

From the above information about Indian Oil

Corporation, answer the following questions :

(1) Describe the values followed by IOC. Explain

the pillars of its governance.

(1) What are the steps taken by IOC towards social

responsibility and sustainable development?
OR
Write short notes on any two of the following :
(i) Management Chal]engés of 21* Century
(i) Workplace Diversity

(ii)) Value oriented Holistic Management

P.T.O.
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; 1. (a) State wrth reasons in brief whether the followmg
Eﬁ ' _' statements are True or False

(1) Cross offer and counter offer are one and 7

s _ the same thmgs

(iii) Validity of collatera] transectio=n depends'

whether the mam transactxon is 1llegal void

er valid. ' BT

} < e
( )A and B were carrymg the same business in 8:. S88
2

_ ocaluy B promlsed to pay Rs 20 000/ fO A w -
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any exceptlons to'this. : (6)

- OR

(a) State WIth reasons ~1n bnef whethe.r the fqllowmg
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‘.: s T
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% . - (i) An agreement w:th illusory -G'Ep‘-ﬁs.rdcr_anqn.
{

B P s (iii)_Misrepresentati.on and fraud are the same ,.;E
things.. B Bk (1‘2) >l %i

(b) A salesman dehvers an. order at B’ 'S pLace by

mistake. B consumes it assummg a gift from a

friend.Is it a contract If s0, name it. Discuss anyf '

- _'otJ;gr such con,trants, 11‘ g,ny AR (6)
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2

4
(a) Distinguish between contract of Indemnity anq

Guarantee.

(b) X hires a car frbm Y. X uses the car, meets an
accident and gets injured due to faulty brake of
the car. Will X succeed for claiming compensation
for injuries suffered? What type of contract is it

Explain its features.

(c) Explain Agency by Estoppel and Agency by
N_eceésity. (18)

OR

" (a) Distinguish between Sale and Bailment.

(b) S guaranteed the payment of rent by P to C on 1*
January 20;2, who let out his cottage to P for two
years. S gave notice‘of revocation of guarantee
on 1* November, P did not pay rent after 1*
August 2022. What type of contract is it.

Define and explain its features. To what extent is
S liable.




(_c)__Su.rety is a favoured Delﬁtor. Discuss. (18)

\

. 3. (a) Distinguish between Condition and Warranty under
| {‘ Sale of Goods Act.

:;1 .‘ : . " ¢ : I -

N (b) A deliver his car‘to B on ‘sale or return basis’ B

then delivers the same car to ¢ and G further

—a

deliver it to D on snmllar terms. While in the
possessnon ot D, thc car is destroyed in an

acmdent Who 1s to bear the loss of car‘?

(c) A, aﬁ_unpa_id seller, delivers the goods to the ;
carrier for delivery of goods to the buyer.. Before
reaching the goods at buyer’s place, A came to

know about the msolvency of buyer. What rlght 1s

avallable with A? | e _( 18)

OR




| (b) A:mt aﬂ unpald se :
ellvered the same to the rallWay

s wheat and d
t’ it purpose of transrmsswn to him. What I‘Ight does
r Amit have against the goods

(c) A went to B ’shop, examined the saree, overlook_ega;

? sy , the defet:ts and purchased it. Next day A soug i £
£ v B, % sugcjeed?

(a) Distingui_s_'h be-tweeil a LLP and a Company.

- (b) Explam the procedure of conversion of a Company ;

into a LLP.

(c) Explam the role of whlstle blower in a LLP

, ’ﬁ%
.;_;1
a9

OR




g

242 S A
(b) Explain the various steps involved in the

incorporation of a 'LLP'under LLP Act 2008.

(c) Explain the procedure for the change in Rlegist'éred

Office.. * - Fa (18) .

5. (a) Discuss Document of Incorporation and Certificate

of Incorporation bringing out their difference.

9)

(b) On failure of A to deliver raw material, B suffered
heavily. He had to close his mill. Can B recover
damages amount and loss of profit also? Name a

similar case and explain in details. (5)

(c) ‘A’ agreed to supply to ‘B’ 100 quintal of wheat
@ Rs. 2000/ per quintal on a particular date. A
could not fulfil his promise in time and the market
rate of wheat rose to Rs. 2500/ per cjuintal. What

remedy is available to ‘B’?

 In case the same quality of wheat was available

P.TD. " L







—
PR i 2 |
o D AR

L L () ¥ o e e s e e
| | o I ; |
(i) Fa i AR FER I T ] A B

(ﬁ)mémmwm_m%
(m) wﬁwﬁaﬂ#aﬁ%mmmmﬁﬁt

mﬁ?%ﬁrgmﬂaﬂ#aﬁa qamﬁuim
i B | (12)

.(ﬁ) Aﬂ?BWWi@ﬁW'm@ I B
v ¥ o o @ YA
2ooooméﬁwwﬁwmnA%mmm
mﬁmlB%ﬂﬁIﬂTﬁHﬂﬂﬁ'ﬁmﬂﬁm!;--'

“‘“Av B%“ﬁ‘iﬂmﬁwmﬂ%?wmf




10

art

(%) i X FRo Gfed wagy & FEliea w9 v @

. FAEAl
({) ah ms[—'aam‘il!r $ o
| (ii). ‘muﬁmaﬁrm%qﬁél
(i) e o s o
~ (12)

(@) ¢ ¥ TR ¥ N D W W R ww
ﬁ%'ﬁﬁwﬁw%mwwame."
m“ﬁ@”%ﬂﬁﬁﬂl%ﬁftﬁﬂm
BB o i, o A, w o i
(6)




T UGS B W 1w X w o N @ f
AT H I X N T P ? 7 fha R
mmilwmﬁqﬂﬁmqﬁ@,

o : ; o (8)

-
ﬁaﬁsﬂtmﬁa%ﬁaaﬁtml

S%lmaﬂzozza?r'Pmcﬁﬁmq%W» e )
H A B, Frd P A A D e o e |
ffae w2 fean S F | FEwW N WA ©@ T ®W
mﬁupﬂimzozzﬁm_mﬂﬁﬁm
i “mﬁmmmmiim,ﬂﬁmﬁ-ﬁm_-
TR . e




o (%) T R g @ ae T o A @ A
Fw S

(®) A 3t IR B @t ﬁéﬁﬁaﬂ’t'% R T I
2, B fi 3@ W A C ﬁﬁaﬁami 311; c
aﬁmmﬁl‘mDaﬁﬁaﬁamtmﬁ?D% .
mimwgﬁzmiwﬁmﬂit T
W“Tﬂﬁ#mm? |

) st i, o R
| _ﬁvmaﬁmﬁaﬁamﬁtmﬁm
W W T ¥ W, v R wlew Rt

ﬁ%%wﬂ%mmnq%mwmaw‘

. . i




= W.Wﬂmﬁ%‘mﬁmq.ﬂ@ﬂ{M'
- %sﬁt‘a%trﬁw%@h%h&aﬁﬁaﬁamil

mﬁ%ﬁwaﬁawwm%l
(w)vﬁaﬁtgwrﬂtmr mﬁ%ﬁ aﬁ}aﬁm
ﬁmsﬁiﬁtﬂﬂaﬁmmﬁ??%aﬁr%

| mﬁaﬁmmmﬁaﬁwaﬁlwwm
B | 2% e iy

51’7—"‘.- (F) v& vowerdt 3k T %_ﬁh em #ﬁﬁm

(w)maawmim%aﬂmu&m




() qaqﬂﬂ'. .I imﬂmﬁwﬂmﬁﬁm :
Wy (18).

B 1 :
R ey

ar

(%) v @ wh oK TE weeed ® & gw

C dkw

.(aj vy e 2008 ® WEG @A & FRE ¥
mﬁaﬁﬁwwﬁﬁﬁmﬂml ‘

'(w)mﬁm%wﬁmaﬁw
Wl ' ' T (Tﬂ_)

5. (+) ﬁwm%mﬁwaﬂzﬁmw%mwmaﬁm

(=) Wm%%i‘AaﬁﬁmmBaﬁmw |
T T I S B qe e v o B sl

mmmﬁmﬁmwm%?ww




15
(ﬂ) ‘A’ ‘B’ 9 100 Rce % 2000 W free @t
ﬂ-%wﬁi\wﬁﬁwmm%mmgm U
A FRE T TN ART T AH R wH AR AZ & Ao

WE 9eE 2500 ¥4 Y faEew & mm B’ @ fv

T IUY IR B?

gl T IUEE W AT D D qE 2200 /9f Feet
IqeR T, AT B ¥ T E’ ¥ 3000 w9 Wy fraca
W @|E, o A FE 5w 9% IaeE Bvm (4)

Je= vl : —
1"-‘.*' Y0 Ny

(ﬁ)wﬁimﬂmmmﬂ%maﬁwmm

3 s wiler W aRm e e i
7 el 3 sl % e & R W

- #? | S S

(!5) memﬁ%ﬂmL%ﬁmi‘tﬁ%
ﬁ?mﬁm mmwm%ﬂmmﬁaﬁz




-
h .

ot T P R W A T

=

& dhor o R e 2




[This question paper €O

Sr. No. of Question Paper :

Unique Paper Code

Name of the Paper
Name of the Course

Semester

Duration : 3 Hours

ntains 16 printed pages.]

Your Roll Nbissselaiossosi

204 D

2412081101

Management Principles and 5
Applications

B.Com. (Hons) UGCF

Examination”

T i

- .. . . &

",-('.',’
G

Maximufn Marks : 90

'] Instructions for Candidates

L I.

2. - Attempt all questions.

T ——

N
Y |

Write your Roll No. on the top immediatély on fe’ceipf‘“
of this question paper.

3. All questions carry equal marks.

4. Answers may be written either in English or -‘Hindi;

but the same mediﬁm_ should be used throughout the.

paper.

prEl @ g fAdm

»

1 mm-ﬁ%ﬁaﬁawféﬁrwﬁuﬁ?ﬂmwm

AT folag |

PT O,



2wl wer R |

3. Oft v @ FE B |

4. oH VI - U IR Ao a1 B R v v ¥ e, AT
T ITA T WLAR TS B BT AR |

1. (a) “Management is the .effective utilization of
human and material resources to achieve the
enterprise objective.” Discuss this statement and

explain the importance of management in today’s

scenario.

(b) Why is coordination considered as the essence of -

management? Discuss the techniques of effective

coordination.

OR

(a) What is the core argument of contingency theory

' of management? Critically evaluate the contingency |

approach of management.

(b) Define Indian Ethos for- management.

Elaborate the basic principles of Indian Ethos for

management. | (9+9)
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y Objective is comprehensive

. 204

2. (a) Management b

management syst
vities in a systematiC manne

em which integrates many key
r and
managerial acti |

jously directed to achieve the st
s the

ated -
that is consc

objectives. Explain this statement and discus

steps involved in MBO process.

(b) What do you understand by Delphi approach of
| decision making? Explain the process of decision

making in Delphi technique by giving examples.
OR

(a) What do you understand by Industry structure?
Discuss the primary model to assess the structure

of industries developed by Michael. E. Porter.

—

(b) What is Meso Environment? Elaborate the

‘elements of Meso environment of a business firm

by giving examples. : (9+9)

3. (a) A manager frees himself from of his responsibility
the moment he delegates a part of his authority to
his subordinates. Comment on this statement and

discuss the process of delegation of authority.

P.T.O.
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Differentiate between Dfa;::vartmentalizarcion

(b) Also discuss

by, Function 2 ization by product.
by

nd. Departmental

Also give merits and demerits of Departmentallzatlon

by Function.

OR

(a) “Both Formal and Informal Organizations are

ust as two bladesl
kable.”

necessary for group activity J
are essential to make 2 pair of scissors wor

Comment on this statement and differentiate

between formal and informal organisation

(b) Explain Team Organization Structure and Network
Organization Structure. How these organizations
are useful in modern complex business

environmgnt? Also discuss their merits and

demerits. (9+9)

4.  (a) What is Motivation?'Discuss the various types of

factors affecting Motivation.

(b) “Leadership is the essence of Management”
Comment on this statement and explain the variou

types of Leadership styles.
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OR

(a) What is Leadership? Discuss the factors affecting

Leadership.

and differentiate between Economic Added

alue Added techniques of
(9+9)

(b) Explain
Value and Market V

controlling.

5. Read the following case carefully and answer the

questions given below :

Indian Oil Corporation was founded in 1959 as a public
sector undertaking under Ministry of Petroleum and

Natural Gas, Govt. of India. IOC is now global

company with diversified portfolio in almost all streams

of oil & gas, petrochemicals and alternéte energy
sources. It is India’s highest ranking energy PSU in
Fortune-500 list w.ith a rank of 142 in 2022. I0C is
well known for State-of-the-art technologies, Cutting
Edge R&D, Quality consciousness, World Best

Practices, Responsible tapping of energy in all its

P.T.Q.
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jucts 0 customers at affordable
roducts . :
y of p

forms, Deliver ‘
i operation

and Transparency
e of Asia’s
, world-class technology

s. It's R&D center

ates, | '
" finest and offers

at Faridabad is o1
ve advantage througl

etitl
comp icts. It has

d innovative prodt

and process solutions an |
g refineries at

installed Green Hydrogen plants in 1t

Mathura and Faridabad.

Indian Oil’s Vision with Values is “to broaden its

horizons, to expand across new vistas, and infuse new-
age dynamism among its employees.” This vision is
infused with core- values of Care, Innovation, Passion
and Trust. These core values and vision has helped

IOC to grow and achieve success year after year.

IOC is a socially responsible enterprise. It has been
partnering with communities in which it operates by
supporting initiatives in the -areas of health, family
welfare, education, environment protection, potable
water, saﬁitation, empowerment of worﬁen and other

marginalized groups. It spent about Rs. 1,800 crores
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7

ast four years across healthcare,

ment, womern empoO
JOC has 2

on CSR during |

ion, skill develop

tal sustainability.

werment

educat

and environme
Sustainability and CSR Policy with a vision to operate

es in providing energy solutions to its

its activiti
t is efficient, safe and

customers in a manner tha
mizes impact on environment and enhances

while ensuring

ethical opti

quality of life of the community

sustainable growth of business and nation.

With the guiding spirit of its concern for customer
service, social responsibility and sustainable
development; it has fuel stations (petroleum, CNG and
EV charging stations) spread all over India serving 30

million customers every day.

Health, Safety and Environment are the three pillars
of IOC to ensure safe communities and happy
stakeholders. It complies with all rules and regulations
of Safety, Occupational Health and Environmental

Protection._All refineries are certified \x-rith I1SO:14064

P.T.O.
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for‘sustainable development and for

h and Safety Managem

standards
ent Systems.

Occupational Healt

res and
Compliance with safety systems, procedu

e unit, division

environment laws are€ momtored at th

and corporate levels. The safety and fire prot.ectlon

111 S
measures include a well-sensmzed managgment, focu

on imparting regular training and a culture of safety

throughout the enterprise.

IOC has a Code of Conduct for its Board

'members and top management which emphasizes
professmnahsm utmost care, skill, dlllgence honesty,
good faith and integrity, high morals and ethical
standards. Every officer is required to comply with
its Code of Internal Procedures and Conduct in dealing
Jwith thé securities of the company to prevent insider

training.

Corporate Governance of I0C is based on three pillars
of Transparency, Integrity and A.ccountability. 1t. 1s

intended to set higher standards of ethical ahd
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' cimize valu
responsible conduct of the company t0 maximi e

It aims to strengthen the

for all stakeholders.
I0C’s

relationship of trust with 1its stakeholders.
governance structures and processes are duly evolved

and adopted from time to time reflecting emerging

best practices.

From the above information about Indian Oil

Corporation, answer the following questions :

(1) Describe the values followed by IOC. Explain

the pillars of its governance.

(1) What are the steps taken by IOC towards social

responsibility and sustainable development?
OR
Write short notes on any two of the following :
(i) Management Chal]engés of 21* Century
(i) Workplace Diversity

(ii)) Value oriented Holistic Management

P.T.O.
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. (a) State with rcason whether the following statements
are true or false:

(i) Anything done in ignorance of offer does
not amount to acceptance.

(1) Presence of consideration is required,
adequacy of consideration is not required.

(iii) Transactions collateral to illegal agreements
are not always illegal. (12)

(b) A minor takes a loan of 50000 at 10% interest.
After attaining majority, he makes a fresh promise
to pay the loan taken during minority. Is this
promise enforceable by the lender. (6)

(OR)
(a) Critically comment on the following :

(i) Stranger to consideration can sue provided
he is party to contract.

(i) Unilateral mistake does not affect a
contract.

(i11) Mere mental assent does not amount to
acceptance. | (12)

(b) Ramesh sold his artificial Jewellery business in
London to Jhon. Ramesh promised not to do any
business relating to real or artific‘ial‘ jewellery
anywhere in London for two years. But after a
‘month he started real jewellery business in London.

Can Jhon prevent him from doing this? (6)
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2. (a) Discuss when a sub agent can be appointed
and when it cannot be appointed. What impact it
will have on liability of principal toward third
parties. (6)

(b) Differentiate between indemnity .and guarantee.
(6)
(c) Anish finds jewellery lying on the corridors of his
office. What is Anish’s position? Explain his rights
and duties, (6)

(OR)

(a) “Liability of Surety is co-extensive with that of
the Principal Debtor”, Comment. (6)

~ (b) Ratification tantamounts to prior authority.
~ Discuss: (6)

(c) Differentiate between Bailment and Pledge.

(6)

3. (a) “In a contract of sale there is no implied condition
as to quality and fitness of goods for buyer’s
purpose”. Comment, (6)

(b) What remedies are available to buyer if the seller
delivers the wrong quantity or wrong quality of
goods? ¢ | (6)

(c) A sells a TV to B for 50000. Ownership passed
to the buyer but TV is yet to be delivered to B.
By mistake A sells the same TV to C for 50000,
Can B now take back the TV from C, (6)

PTO
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(=)
o~
’h

(OR)

(2) “Right of stoppase in transit is an extension of
right of lien for an unpaid seller”. Comment.

(6)

(b) Discuss the rules for transfer of ownership in

ascertained goods. (6)

74

(¢) Amar orders 300 tins of fruit Juice packed in
cases containing 20 tins per case. The juice was
delivered to Amar but it was packed in cases
containing 10 tins per case. though Juice was of

the same quality. Can A reject the goods? (6)

4. (a) Limited Liability Partnership combines the
advantages of both Traditional Partnership and
Company. Discuss. (6)

(b) Discuss the procedure for changing the registered
office of LLP. (6)

(c) How is an LLP incorporated? Discuss.  (6)
(OR)

(a) Discuss the steps to be followed in formation of
LLP online. (6)

(b) Discuss the qualiﬁcatiéﬁs / disqualifications for
being Designated Partner of LLP. What role does
Designated partner play in LLP? (6

(c) Write a note on choosing and changing name °
LLP. (¢
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5. (a) “Difficulty of performance does not discharge a
contract but impossibi]ily does”. Comment giving
examples. 9)

(c) Discuss the procedure for converting a
traditional Partnership to LLP. What will be the
consequences of such conversion? (9)

(OR)

(a) Discuss the rules relating to c]aimiﬁg damages for
breach of contract giving suitable examples.

(9)
'(b) Differentiate between Private Company and
Limited Liability Partnership. %)

(a)waﬁéﬁﬁﬁ?ﬁwﬁ%waﬁgmﬂ?ﬁi
(i) vwema & s ¥ fewm o @ N W
g @ Ao F T8 e 2
(ii) e 9 SuRdfy sawas 2, Wiihel i wairar
# gl A8l Bl
(i) sy e D GUPHE R AW I AL
B B (12)

(@) U@ AEIRAT 50000 TR H HI 10% S T A 2
FIferT B & W% 98 JEUEhl @ SR foY T ol
Y FHA H AT AET HA 81 HN U8 9RI ORIl
T WE FA A B (6)

P.T.O.
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(a)

(%) PreRiRem © SeeEe ol S
(i) R @ Ry S (ool X T § I
R I% SRS @ IEER B
(i) e T B ey i T
Bl
(i) R RS D A PR H TR T 2
(12)
@) ﬁm%wﬁmﬁqmmwﬁa
= 3o Ban @AW X A g9 T @ed A el W
SO W FEA I ¥ daim S N wE @
&(xﬂdiclﬁmlﬁW@ﬂﬁmﬁﬁW
¥ e e = Rowe TE o A | SE 3
¥ S ¥ AF ww? (6)

2. (H)ﬁﬁm%w-@%ﬁﬁgﬁﬁmmm%
IR e Figes 7@ o W IF@ 21 AW W D AW

AT B AR W IS T AW T (6)

(@) &gl IR WS & = FR R (6)
(®) 0T W J TR F AoER F T FnEer Fe
I & T = 3 e e’ SR @

S Eey (6

()

(3F) “FFE & AT AW TN D AT GE-TEH 27
Mﬁﬁl’?! (6)
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(@) aﬂﬂﬂﬁqjmmm%w%lmquﬁ
Eﬁﬁﬂ’l (6)

.(H)mﬂaaﬁrﬁﬁm%ﬁamiﬁﬁm (6)

3 () ‘AR D sy ¥ @R B ww @ R w
| TR SR Sugear @ =9 ¥ 9 B v w8 27

M?ﬁﬁml (6)
() FA D I o 3w Sve & 4R fder W ) e
AL AN A o A B (6)

(¥) A, B 50000 ¥ ¥ v A9 Fwar 21 zawm
wﬁamﬂmaﬁﬁmm%ﬁﬁmaﬁaﬁ,ﬁaﬁ
fechtar fovar s @ret 21 ot 2 A 3 GG =
Caﬁsoooo*‘f%a%m%nwaa&c%ﬁé’ram
o geahar 27 ’ (6)

(31) “ﬂﬁﬁﬁﬁaﬂm'wﬁ%ﬁm%ﬁp
m%afﬂw?ﬂﬁﬁm%ﬁﬁmaﬁm

#wT g T gam 271 o Hfw (6)
(@) ﬁmmﬁ'wﬁa%m%ﬁqﬁm?ﬁ?
SlTg] (6)

() R 500 ot well & W@ w1 smw T 2, R Ry
ﬂﬁzoﬁéﬁﬁﬁtmmm‘rﬁmwmﬁﬁr—rgﬁ
mﬁa?"rnﬁrﬁt?.arﬁﬁaﬁﬁﬂa:%mww,am‘ﬂ%
® WA UEE A F AT B IENER %
qehell 87 (6)

Pk,
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i (%) @ﬁammmﬁaﬁﬁﬁﬁ?maﬁ%
A SR B T S W T i (6)
(F) Wﬁwmﬁmﬁﬁmww
Hitogl (6]
(|) Wﬁ%ﬁﬁvﬁaﬁmm%?waﬁ\ﬁm
(6)
() |
() voweEd & JHAed FET A AT WE A gy
Wﬁfﬁﬁ‘f@l ‘ | (6)
(¥) ToUed & A WRIRR B & ot 3w / sangy
| W T A veed ¥ wAE Wi & st
B 87 : (6)
(¥) Wﬂﬁ’ttﬁrﬂmgﬁaﬂrmﬁwwﬁ?%ﬁqm
(6)
5. () “wediw &t HiSE vw ey & deT w8 @
Afh FEVIA Fikel 87| ISEWT oot Y feoit fofem
T (9
(¥) U IRURE 9EE] Sl TaUadl ¥ Sgow @ Wiedl |
o QI VY TR & IR @r aR? (9)
(@) |
() ITqET JeE AW W Y D IewuT D fog s
mmaﬁ%@ﬂaﬁﬁaﬁﬁ-aﬁﬁm (9)
(@) Pl w0 ok S 2o e & @ s AN
. | (9)

(10,000)
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3 I FUl W A X R o wwA P AT @ A gy
B Weaw & gEwE wa iy

I. (a) “All agreements with Minor are void and
inoperative against him but he can derive benefit
under it”. In the light of this statement discuss the

rules relating to minor’s agreements (7)

VaEfeE & g @ s g sk 3as faas e
# dfe 98 Za8 989 9 UrE a7 aFA 2701 39 F9
& AW A HAgER @ AN 4 Gared faR @ owen
Eaimed

(b) Differentiate between:

(1) Coercion and Undue Influence

(i1) Cross offer and counter offer (8)

frafafaa & Tm 9w Fifso
(i) Faves sk safE gwE

(ii) #@ HH 3 FIIT A
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OR

HUdr

(a) Define the term consideration.Consideration must
be something of value. Elucidate (7)

sfahet v i wRafie i wiwe @ w @ A
il ' &ifs

(b) A enters into a contract withBharti to buy herred
110 car for 1 lakh. Bharti understands it to be an
offer for the other car of hers. Is the contractvalid
between the two. Incase A on gunpoint offers to

buy the car will the answer be different. (8)

T F 1 @ # herred 110 FR @A F fow & 2
1y FFaY fEan W qwea @ fF 98 3 @l FR
&1 R A @ Al G dHEY dU ?) IR des
il Al W U N @led @t 996 &l B odl oide

HWT BAMI

(a) Define the term Agency.How are agency contracts
created? (8)

vl v ) uftsfia @) oo seE @ FA S

27
P.T.O.
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(b) Explain the position of the finder ofgoods.W’hmam

his rights and duties? (7)

W & @erenal @ feafa &Y sren FoR) IeE g
3R wdsy @ B 7

OR
Har

(a) Define the contract of Guarantee.What is the
difference between contract of Guarantee and

Indemnity. (8)

TE & ey A IR Hif WA sk e @
FIEY & AT M FaW 2B

(b) Chetan sells a TV on hirepurchase to Harish.Suraj
gives a  guarantee for payment of
instalments.Chetan terminates the contract and
seizes the goods.Subsequently he sues Suraj on
the guarantee.Can he do so. Explain (7)

ﬁm%ﬂmaﬁ%mﬂawq&:ﬁ%m%uw
ol @ e ) R R A sy @ @
W%m%aﬁtmmaﬂémﬁlwﬁmﬁ’"ﬁ
TS R Hehaw awR famam) g 98 Yar Fw @@ o
= Fifi)
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3. (a) Discuss those situations when a person can
transfer a better ownership than that he himself

hasas against the owner, (8)

39 feufaa wowwt g sw S wfed 39 @fie 2
WR @HE BEaRa = gar 2 o IeY wa @il 2
fave o 2

(b) Differentiate between Sale and Agreement to Sell.

(7)
9 3R A F @ W D A" HAR e

OR

HAUdr

(a) Define the term Goods as per Sale of Goods Act
1930

A HEE 1930 B R @ sER W W @
ufesrfoe &8

(b) Anam placed an order with Bhaviya to
supplywoollen cloth which were according to the
sample previously shown. The cloth supplied
corresponded with thesample,but owing to latent
defect in the cloth, thecoats made of it would not

P.T.O.
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stand ordinary wear and tear. What lega]

actioncan Anam take against Bhaviya and why?

AR A Wil & FA Fu F Il w S Ry
St wee i@ v duer @ FEn u9n awns e
FUS AU & HFRT A1, AfehT IR A AT AT B Fwo,
T I FIC WA TC-He ol AT & R qEh A
S Il & R o e T e 2 ok
a7

4. (a) Define LLP as per LLP Act. What are the salient
features of an LLP? (8)

gegerdt sfefas & qEr vevedt @ aRwia i
TAvedt @t e fasivae w27

(b) Can a public company be converted into LLP.If
so, how? (7)

&1 Ueh diaaiiHen 9l el Togedt A gRafda fean s
wFar 21 afe B, @ @47’

OR

H2Adl
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(a)Write short notes on
(i) Extent of partners liability
(ii) Whistle blowing

fAfaRes w o fewforal oy
(i) wmerY @ efae &1 4
(ii) feaer sga

in the
(b) Define the term designated Partner. Explain
provisions with respect to designated partners.

Afa AR w2 &t aRWIRE Fifoe) Aiffa wEfeRl &
gay ¥ yEuE @ R S|

5. Write short note on:

(1) Private and Public keys (8)
(11) Subscriber

(7)

P.T.O.
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OR
JHeqarn

(a) Explain the dutiesand powers of Certifying
Authority under the I.T. Act. (8)

A gy & d8d v Wit & w9 3k
il & sen i)

(b) What are the objectives of I.T. Act. (7)

IS s & 329y = 27

(500)
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I. Attempt any three questions out of the following 6 questions:

(1) Define Previous Year and Assessment Year. When is the income of Previous j)’ear ‘not

taxable in the immediately succeeding Assessment Year?

(2) X left India for the first time on 18th August, 2020. During the Previous Year 2020-21,
he comes to India on 2nd October, 2021 for 196 days. Determine his Residential Status
and compute his Total Income for the Assessment Year 2022-23 on the basis of the

following information:

Income Rs.
1. | Interest from the Government of India, received in London 5,00,000
2. | Royalty from Indian Resident for a project of an Indian 6,00,000
company situated in London |
3. | Dividends from an Indian Company 50,000
4. | Gifts from friends in foreign currency, received in London 24,000
5. | Income earned ;and received in Lond;)n in 2019-20, remitted 6,00,000
to India in 2021-22
6. | Interest earned in India but received in London 60,000

(3) From the following information, compute Total Income of X and loss to e carried forward

for the Asessment Year 2022-23:

Income Rs.

Salary (after standard deduction) 24.00.000

Other Sources ' | 2,00,000
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w

—

4,00,000

House Property 1 (let-out)

House Property 11 (self-occupied)

(-) 6,50,000

(4) Explain the provisions of clubbing under section 64(1A) in respect of Income of a Minor

. child.

From the following details, compute the income of X, Mrs. X and A (their minor child):

Income X (Rs.) Mrs. X (Rs.) A (Rs.)
Salary (after Standard deduction) 18,00,000 -- e
Other Sources -- 18,50,000 ---
Income from acting 50,000
Gift from friends 1,200
Gift from relatives 30,000

(5) X (62 years) has the following incomes during the Previous Year 2021-22. Compute his

Total Income for the Assessment Year 2022-23:

Income : - Rs.
House property (compu'led) 7,20,000
Post Office Savings Bank Interest ' 4,000

P.T.O.
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Interest on Deposits with Bank 60,000
Deposits with PPF 1,20,000
Purchase of NSCs (VIII Issue) 40,000

(6) Explain the case of. Raja Benoy Kumar Sahas Roy describing the principles that serve

. x - - o " - ”»
as a guide in determining the scope of the terms “agriculture” and agr;cultural purposes”,

From the following details, compute taxable income of X:

Income Rs.
Sale of Tea 20,00,000
Expenses on growing tea leaves and manufacturing tca leaves 12,00,000

Frafafem o vl ¥ A Rl A e @ e 3 @ vaw AR

(1) froa af R smhe (Feaia) ad sRnfa @R o af @t s & o T

T -fAufor af ¥ @ a9vg =& B 27

(2) vEE 7 18 W, 2020 N YEel 9K NRA o Ao 9f 2020-21 @ I/H, T/ 2
FICER, 2021 W 196 oAt & fow wwa s i FeafoRaa S9E@ @ SR W
&¢-fuRor af 2022-23 & g Sea Farin Rafy Fuife At sk sen =@ s

F A T

| ’ S %0
L[ W ¥ W WA WER ¥ I e e, 5,00,000
2. | der ¥ R vw wRAE FER N vE wRAw @ R 6,00,000

WAl Fad ¥ daedt

B———— £

s RN
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3 |t YREG TR A W 50,000
4 |2019-20 A e ¥ A= A FRA Fa@ F WA IR, 24,000
5 |wra @it ik ofed ¥ W ™, 2021-22 6,00,000
o |l wwa ¥ affe fear T A wew A wa foRmr W@ 60,000

(3) ﬁwﬁ@am%,maﬁmﬁzuzz;zsﬁﬁvaﬁﬁmﬁﬂﬁmﬁfﬁj
Fm IR £ A T B A TOE HR

I 0
I (AHE FER ® qR) 24,00,000
F=4 2,00,000
TEd Wl - 1 (fRm awn) 4,00,000
TRE WOl - 1 (W|E & ared) (-) 6,50,000

(4) e @ W @ D wEU H W 64(1W) F FEq W (a=fdn) & wau=i & s

|
iRy o ¥, vew, fFd e dR U (S AEied @=d) @ ™ @l IO
AT
A T (%) MR T (B) | T (%)
I (AFE wAR @ AR) 18,00,000 - --
I A -- 18,50,000 SO
JN ¥ W B A JE ; 50,000
I ¥ WE JUER - 1,200

P.T.O.
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[ﬁsaaffam%m

30,000 j
(5) Rod af 2021-22 & T v

(62 af) & F=fafaa sma 21 AU af 2022-23

s w |
FIS¥ W9t (waforer) 7,20,000
9 i aaa 5 =T 4,000
L%%Wwvﬁrww 60,000
Wiew W s 1,20,000
TR @t @l (Vi ) 40,000

(¢) o el & w1 3w ot et g R oA gy oo

ﬁmﬁ%aﬁawﬁ%,ma&mﬁmmaﬁmaﬁﬁq

— | 70
Lmaﬁﬁ;ﬁ 20,00,000
Lma&vﬁiwﬁaﬁtmaﬁwﬁmwaﬁ - 12,00,000

2,

o te following information, compute total income of X for the aséessment year 2022-23
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Income Details Rs. (per
annum)
Basic Salary ‘ 12,00,000 \
Dearncss Allowance (50% is part of salary for all retirement purposcs) Q,OO,OUUj
Education allowance for three children 36,000 \
Research allowance 20,000
Research shall complete in 2022-23 *
Amount spent in 2021-22: Rs. 16,000
Amount spent in 2022-23 (June): Rs. 4,000
Rent-free furnished house in Delhi, owned by the employer \ 14,000 K
|

Furnishings provided by the Employer, owned by him, purchased in 2017-18

Gardener 18,000 \

Overtime Payment \ 10,000 \

Personal Attendant wef 16th December, 2021 \ 12,000 \

Free use of car (1800 cc) with Driver for personal and official use

wef 16th December, 2021. All expenses of the car are incurred by

the employer.' A sum of Rs. 5,000 is recovered from X.

Employer contributes 14% towards to recognized Provident Fund of X \ \

Interest on Provident fund at the rate of 9% \ 9,000ﬁ
P.T.(
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Interest on securities (net) _ﬂ___ﬁ___..___l.:ln_,w_.
Own contribution towards Provident Fund "lm'n“i‘
Life insurance premivm on own life 15,000
Sum assured 100,000
Policy was taken in 2020-21
Life insurance premium on the life of daughter: paid on 15th June, 2022 3,000
Purchase of NSCs in July, 2019 10,000
Accumulated interest in 2021-22 1.4006
(10)
2. FrfoRed STl R, aR-fufor o€ 2022-23 @ Rie wew 9w o @ TR DR
& fR{ao T (v )
I A 12,00,000
}wﬁnﬁwm%mﬁﬁaﬁgﬁraﬁzﬁ%%@%ﬁmﬁm%) 2,00,000
L?ﬂ? Tt @ fau fer ssw 36,000
! HJGUH Wl 20,000

FEUHEE 2022-23 ¥ G &AW

2021-22 ¥ IgEuFE W Ed @ T AR 16,000 T

Lzozz—za () ¥ s w wd AT R 4000 T
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ﬁﬁw%wﬁawmﬁmﬁﬁwmamzow-wﬁ 14,000
ﬁq}wmmmwwﬁmﬂwaﬁwﬁ%maﬂmwm
e | 18,000
SRETEA I 10,000
16 feEeR, 2021 ¥ wEAHEIT 12,000
16 REw, 2021%%&?%&53@“%@;@%

A &R (1800 W) F AR ITM FR W AW @ e gw G

Sl 21 ,DI ¥ 5,000 TR A M agE M AR BN

e DI & W= W s @A @ fom 14%3311?|1E1=r%aj§

RRRCET W 9% A W A =W 9,000

winfdl w = (e 18,000

wiw AR & fow @@ & aeeE 1,00,000

g w Wad qe W 15,000

o afx 1,00,000
| 2020-21 ¥ @ T @

I & e | e 9 AR 15 S, 2022 @ YA R @ 5,000

wors, 2019 ¥ vAgEd @R W | 10,000

2021-22 ¥ WRE &W 1,406

P.T.O.
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OR

HAdar

2. (a) Explain the provisions for taxing leave salary. (3)

mmwmmﬁ%mﬁﬁwﬁml

(b) From the following information, compute total income of X for the assessment year 2022-

23:
Income ' Rs. (per annum)
Basic salary i 10,00,000
Dearness Allowance forming part of salary 1,00,000
House Rent Allowance 2,00,000
Re:nt paid by X in Delhi 1,50,000

‘_ -

l Transfer of computer on 15th January,2022 30,000
/ Cost of computer to employer on 15th April, 2020 1,00,000
L Employer’s contribution towards NPS | 1,50,000
! Employee ’-s contribution towards NPS 60,000
Short-term Capital Gai.ns on sale of gold | 50,000
5 year deposit with the Post Offjce ; 1,00,000
Deposit in Public provident Fund . 30,000

(7
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ﬁﬂﬁ%ﬂaﬂmﬁﬁqmaﬁzomsﬁﬁﬁmﬂﬁﬁmﬁmmz
o % (v @)
ﬁ 10,00,000
T W o @ R 2 1,00,000
& e s 2,00,000
ﬁﬁﬂﬁmmwﬁ&mwﬁm 1,50,000
15 WA, 2022 W FHYEX F TGN | 30,000
5 30, 2020 H P B TG R AW 1,00,000
v ¥ ol @ S 1,50,000
wiw & Ry FEd @ e 60,000
W B AR W e QT 50,000
TEW A 5 AW @ o 1,00,000
wdane wRw By § W 30,000
X (61 years) submits the following information for the previous year 2021-22:
House [ (self-occupied) Rs. House II (let out for Business) Rs.
Fair rental value 4,00,000 Fair rental value 4.40,000
Municipal value 4,10,000 Municipal value 4,60,000
Standard rent 3,80,000 Standard rent 4,40,000
Municipal taxes paid 4,000 Municipal taxes paid 5,000

P10,
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l Annual rent Nil Annual rent 6,00,000
/ Unrcalizcﬂ rent Nil Unrealized rent 2 months
/ Loss of vacancy Nil Loss of vacancy I month
/ Repairs 20,000 Repairs .30,000
Interest on borrowed capital 2,40,000 Interest on borrowed 3,00,000
for purchase of house capital forpurchase of house

He earns long-term capital gains of Rs. 6,00,000 on sale of shares and deposits Rs.

1,20,000 in Public provident fund. He also pays medical insurance premium of Rs. 15,000
on his medical insurance policy in cash. Compute taxable income and tax Iiability of X

assuming that X is a non-resident(ignore section 115BAC). (10)

(F) v (61 af) fiodt af 202122 & fory Feafofas T wega e 2
Lm—l (=g & Feat aren) T [ ERE-1 (@Em & fow) ¥
/ SR fFaar 1= 4,00000 | Shm & = 4,40,000
/ TR e 40,000 | TRRET W 4,60,000
/ e e _ 3,80,000 | W fermar 4,40,000
LWWE‘T&'WW 4,000 | TR O W w SEER 5,000
1 aiftfer faran Nil | it fermar 6,00,000
/ S fermr Nil | s fawmn 2 months
e a1 qeerT Nil | R w1 o [ month
rmwa 20,000 AT 30,000
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W @Al @ o Iur @ 2,40,000 | W WY & fw IuR & 3,00,000
T G W= T W

T T w AfE Tl W affa awar 21 dmd @ BE W 6,00,000 T S S
Tf . wdwe wfrw ff ¥ 1,20,00010 9 A @ Rl @ ffew @ pEE W owE
Bl e A I Rfen G Wit w 15,0000 @ W R B X vE sREd 2 (um
11SBAC @l 3@t ) X & o dva o 3k o 2aar & ToF &

OR

aredr

(a) Can a person be chargeable to tax under the head” Income from House Property” if he

is not the legal owner of the house property? (3)

T & A e owufa A o idw @ siwle W ¥ SEEEE B @ @ R
98 Y6 wufd H FEER @R e 27

(b) X owns a property meant for self-occupation. Its fair rental value is Rs. 3,00,000 and
municipal value is Rs. 2,40,000. He pays municipal taxes of Rs. 10,000 during the year.
He took a loan of Rs.18,00,000 for construction of this house @10% on IstJanuary 2015.
The construction was completed on 31stDecember 2017. He repaid the loan on 3 1stMarch
2022. His income from business is Rs. 3,00,000 p.a. and long-term capital loss on sale of
silver is Rs. 50,000. He earns short-term capital on sale of shares worth Rs. 4,30,000.
Compute his total income and tax liability for the assessment year 2022-23(ignore section

115BAC). (7)

mwmﬁwwﬁm%ﬁw—wﬁﬁqﬂlmaﬁaﬁmqm's,ﬂupuu
T IR TRURrHT FT9 2,40,000 TA 31 96 TG D I 10,000 WA D FTRACAE
A T PR A B TEX 1 T 2005 T 10% B WA W W D Few @ |

fore 18,00,000 & @ o foran T @ 31 fEsR 2007 @ q@ogsm @n IEA 3
P.T.O.
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W 2022 W WV GEEN WAEE ¥ IAD I 3,00,000 TA wfy wd Bk A& AR
R W adefaw gt B 50,000 T B W6 4,30,000 TR o M A w
ST T T aWal B e af 2022-23 @ Y I WA S SR uR
ar & T AR (aR NsAER W s wR)l

4. From the following details furnished by X for the previous year 2021-22, compute his

taxable income and tax liability for the assessment year 2022-23 (ignore scction | ISBAC):

Income Rs.
Salary (after standard deduction) 24,00,000
House property (computed) | 6,00,000
Long-term Capital Gains (Gold) 1,00,000
Short-term capital Gains (Shares) . 70,000
Winnings (Net) ' ‘ 1,40,000

1 -Savings Bank interest : 40,000
/ Income from Royalty : 1,00,000
/ Cpmribution towards public provident fund 1,40,000
Purchase of NSCs (VIII) Issue 20,000
Medical insurancF premium paid on own li_fe ' 26,000

| Medical treatment of dependent sister suffering from 60% disability 15,000
Donation to Prime Minister’s National Relief Fund (chcqué) 1,00,000
Donation to approved public charitable institution 2,10,000




(10)

Rod af 2021-22 @ fw v aw wega PA=fafaa ol A, s @b 2022-23 @
Wwﬁwﬁmaﬁmmﬁwmﬁm%(mnsﬁ@aﬁmaﬁﬁw):

i E
AT (TE TR D ar) ' 24,00,000
TRE Wt (wfn) 6,00,000
A O () 1,00,000
STEIITs O @ (Faw) 70,000
st @ (R (3e) 1,40,000
EROMREal 40,000
Aqect | I 1,00,000
adaE wiem [y ¥ aneE 1,40,000
wEREd (VI 39 20,000
wWd @ Waw WA wr Rfeen S Afaw 26,000
60% ﬁamm%_rﬂf%a i wET @ fafewm STER 15,000
wuFEA Tl aEd @ A T () 1,00,000
FAARE AdeHE el e @ e 2,10,000

P.T.O.
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OR

Jrerdl

4. (a) Explain the provision of section 43B in respect of deduction on account of unpaid liabilities,

Name any two expenses covered under section 43B.

(3)

ST JARD B Fwr AR B Wy A G 439 P AU R AR R
43ﬁ%aﬂﬂaaﬁaﬁﬁﬁﬁé}aﬁaﬁmml

(b) X provides the following details for the previous year 2021-22:

Residential Gold (Rs.)
House
Property (Rs.)
Sale Consideratioﬁ Sth February, 2022 | 90,00,000 15th February, 2022 30,00,000
Cost of Acquisition | 15th March, 2004 15,00,000 12thJuly 2000 8,00,000
Fair market Value 6,00,000
as on Ist April, 2001
Expens_es on transfer 20,000 20,000

He purchases the following assets during the previous year:
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Date Amount
Residential House Property 15th August, 2022 12,00,000
NHAI Bonds (redeemable on 30th July 2028) 15th March, 2022 60,00,000

He deposits Rs. 50,000 in Public Provident Fund. Due date of furnishing return of income

for the assessment year 2022-23 is 31st July, 2022. Compute his net income for the
assessment year 2022-23. (7) °

T fied af 2021-22 @ fov Feaffea REor wem @@

JEEa I8 M= (70)

qafe (%0)
fat w ffar |5 wad, 2022 90,00,000 15 HEEd, 2022 30,00,000
farw 15,00,000 12 @ 2000 8,00,000

1 3WH, 2001 & 6,00,000

RIRECI I

AT [W EH 20,000 20,000

Iz ¥ wfem weEm @t g @ wrEl w@Et 98 @ @ T 3§ W W S

s A
AEEE W gata ; 15 3T, 2022 12,00,000
GATEIEE= (30 oS 2028 15 A, 2022 60,00,000
YT W EE A

P.T.O.
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= R 9§ & <k PR ReaRd @ wled v T Fon e ook
W 15,000 TR B R d MR FAPEE F THG H A BT A W A
s 3k T e € U O AR BT die R U UE e 2 (am nsded

T FFe@l Fg)|

total income for the assessment year 2022-23:

Profit and Loss. Account for the year ending 31st March 2022:

From the following information furnished by X for the previous year 2021-22, compute his

Particulars

|

employees’ Recognised

Provident Fund

Rs. Particulars Rs.
Purchases 1,80,000 Gross Turnover 10,00,000
Office expenses 45,000 Bad Debts recovered 6.000
(carlier allowed as deduction)
Audit fees 10,000 Custom duty recovered 4,000
(earlier not alloxvr;d as deductioni
Household expenses . 3,000 Gift from friends \ 12‘006
Depreciation on Plant and 34,000 Gift from Parents \ | 25,000 \
Machinery
Contribution towards 1,00,006 Interest on securities 5,000
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Bonus to staff 20,000 Income tax refund 2,000
Income Tax 40,000
Donations to national 2,000
Defence Fund
Life Insurance premium 20,000
on his own life
Capital expenditure on 25,000
scientific research
Provision for Bad debts 12,000
Net profit | 3,28,000
10,54,000 10,54,000

Additional information:

Depreciation on plant and machinery as per income tax provisions is Rs. 36.,000.

Bonus to staff is paid as follows:

Rs. 10,000 on 5th October, 2021

Rs. 5,000 on 30th July, 2022

Rs. 5,000 on Ist August, 2022‘

Due date of furnishing return of income is 3lst-July, 2022
Audit fees is paid througﬁ bearer cheque.

Income tax refund includes Rs. 500 as interest on tax refund.

Pl
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He contributes Rs. 25,000 towards Public Provident Fund. (10)

a8 e Wiasews A 50,000@@%%1%3&2022—23%ﬁqmm
afer w6 Faa R 31 9, 2022 21 e af 2022-23 F T SR g gy

@ IET SR

faawor T o <0
A 1,860,000 | ¥Hd HRER 10,00,000
Jfha &1 @ | 45,000 | @0 WO qEA (TEA HK 6,0001
@ WA e @ g A
RIS RE e 10,000 | ¥ IcH TG T (TEA HErN A,GOEJ
& W X AR A8 @)
W @ 3,000 | I A IWER 12,000
Faq 3R A W ™ 34,000 | wrn-faar ¥ IR 25,000
FHARA & Wgar W \fasr [1,00,000 | gfdl w == 5,000
ffr & fag dnree |
FHaAIRal @ |4 20,060 smar fms 2,000
S| DET 40,000 \
U & AW § A 2,000 \
FUA AT W oA e R 20,400 | \




=

5.

281 51
rﬂmﬁm SUR R G g 25,000
T D e e 12,ood
4 3,28,000
10,54,000 10,54,000
sfaRea w=am:

1 SIS WAEE @ SFER Was oK WY W REE 36,000 w0 s T 2
2.Wfﬂrﬁ&fﬁ€ﬁa¢rﬁmﬁm@mﬁmm'§:

5 IR, 2021 & % 10,000

30 og, 2022 ® ¥ 5,000

1 3T, 2022 & T 5,000

M fael W w3 9 ¥} R 31w, 2022 @
3. s W &1 e R 3% @ wmaw ¥ fva s 2
4. 299 Rbs W =9 & w0 ¥ sm@aw Rws ¥ s00 w@ _wmfm 1
s.agé}mwﬁw'ﬁﬁ:izs,ooocﬁmtﬁmﬁmﬁl

OR

J=Adl

X and Y are equal partners of XY Co., a firm. Profit and loss account of the firm for the

year ending 2021-22 is as folloxvs: P.T.O.
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Particulars Rs. Particulars
Cost of goods sold 50,00,000 Sales 80,00,000
Depreciation 50,000 “Other business receipts 60,000
Bonus and commission to staff | 7,00,000 Long-term capital gains 80,000
Other expenses 1,00,000 j
Interest on capital to partners
@24%
X -IS,OOO
Y 24,000
Remuneration to partners
X 3,00,000
Y 2,00,000
Net profit 117_,48,0{.)0

81,40,000 81,40,000

Additional information:

(i) The firm satisfies all conditions of sections 184 and 40(b).

(ii) Salary and interest are paid as per the partnership deed.

(iii) Depreciation as per income Tax Act is. Rs. 48,000.

(iv)Other expenses include Rs. 20,000 which are not deductible under sections 30 to 37.

(v) Income and investment of partners are as follows:
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Particulars X Y

(Rs.) (Rs.)
Dividends from Indian company 40,000 30,000
Dividends from foreign company 20,000 12,000
Interest on company deposits 1,20,000 1,24,000
Interest on savings bank with post office 2,000 1,200
Deposit in public provident fund 1,10,000 1,40,000
Indira vikas patra 20,000 10,000

Compute net income of the firm and partners for the assessment year 2022-23.

(10)

TH IR 98, TF TEEaE T, ¥ W @ WRER 21 99 2021-22@ @ B
T af & R W @ sk Tl w@E ™ vER R

- Rs, | famm Rs. |
T MW I A 50,00,000 | T 80,00,000 \
TR 50,000 | ¥ @A Wit 60,000 \
FHARA A 999 3R I | 7,00000 | QUSME GORE N 80,000
I @ 1,00,000

AR A G W 24% @

WA A

gl 18,000

i 24,000

P.T.O.
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st R R W
NEal 3,00,000
ard 2,00,000
g€ o™ 17,48,000

81,40,000 81,40,000
SifaRea SR

L W uR 184 3R 40(R) | W T FN W F@ B

2. UERRAER & FEER 9T AR A @ WEE fRr S 2

3. WS JfRFE h FTER TEEEE 48,000 T R

4. 3 @A ¥ 20,000 TA WA & W YR 30 ¥ 37 & wEd wel A T B

5. WReR & 3 3k FRW =@ 9ER &

oo , v (70) - Y(Rs)

WREHE A | ' 40,000 | 30,000

faest o ¥ W 20,000 12,000

YAl S W =T . 1,20,000 1,24,000

e Jifhg & 99 S9d 96 W A 2,000 1,200
ICEHIEED %ﬂ‘aw_ fAfr ¥ s | 1,10,000 | 1,40,000

T few @ - = 20,000 10,000

| |

W-ﬁvkmaézuzz—zaéﬁﬁw#aﬂtm‘haﬁaﬁaa JE A WET SR

(12,000)
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er driven”. Examine thig
1. (a) “Marketing 18 consum

hlichting the nature and importance
12

(7)

statement hig

of marketing.

' hic and
(b) Explain how changes 10 demograp

marketing
natural environmental factors affect

(8)
decisions?
OR

(a) “Marketing in today’s arena requires a more
representative set of marketing mix in addition to

4 Ps of product, price place and promotion.”

Explain. (7)

(b) Discuss the marketing philosophies that have
evolved over the years. (8)

(a) What role does psychological factors play in buying

decision of a customer? Enumerate citing relevant
examples. (7)

(b) What is market segmentation? Suggest Suitable

bases to a marketer for segmentin

g cosmetics and
family car.

(8)
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OR

(a) What are the major stages in the consumer buying
decision process? Do consumers pass through all
stages in buying a mobile phone. (7)

(b) While planning their positioning strategies what
bases are commonly used by the marketers?

Suggest suitable bases for positioning organic
products in Indian markets. (8)

3. (a) “Branding has assumed great importance in

modern-day marketing.” Explain the statement and

discuss What criteria should be used by a marketer
in selecting a brand name? (7)

(b) Differentiate between skimming pricing and

penetration pricing policies with the help of suitable
examples. (8)

OR

(a) What factors are taken into account by a marketer

while determining the price of a product? @)

(b) What do you mean by new product development?

What stages are used by the marketer in
development of new product? (8)

P.T.O.
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4. (a) What do you understand by promotion mix?
Suggest suitable promotion mix for a company

planning to launch electric cars in India. (7)

(b) Explain the concept of marketing logistics by
enumerating their components in detail. (8)

OR

(a) Explain the factors that affect the choice of

promotion mix tools? (7)

(b) Differentiate between exclusive, selective and
intensive distribution strategy with the help of

suitable examples. (8)

5. Write short notes on any three of the following :
(5%3)

(i) Rural marketing mix
(ii) Digital marketing in present scenario
(i) Ethical Issues in Marketing

(iv) Consumer Rights and redressal forums under The
Consumer Protection Act, 2019

(V) Meaning and importance of sustainable
marketing
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L (3) “Tafen Swimm wafm 31 WERT @ ve
AR M@ W G IO FC @ FAT a e
it (7)

(@) @& =y & TReeE sk wghe w@iEy
FRH H§ RawT Aefen ol @ A i awa
B7 (8)

at

(1) “I & W A Wefew & forg Swre, wew = R
TOR & 4 Ps & 3Tl AhieT fha| & 3t gfafAfe
I H AATFT AR BN R FRT (7)

(@) frod oo o ¥ foole 3w o == w® ==t
i (8)

2. (1) Wewm & wa Fola A wHawE wwEAl W@ own
et B 27 W IS B <d §Y IO
el (7)

(@) TR e = 27 Sifcad 3R wiRt @R @
IMRRT B v R & g I9ge JER g
(8)

P.T.O.
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a1

() i wde v wRer ¥ T T W Y7
T TS AR B @ded @ G TR0 | Tord
Bl (7)

(¥) 9T ARTHT WAl S AT S9 9A3T ATeheY
AR R R SRl 1 ST awa 87 WRA SeIR
# S I & GRmRe @ Rie Suged smeR
REER] (8)

3. (&) “omgtiew @ St AT ¥ Wil ¥ 95w weer wsor
wN formr 817 5@ FuT 9 e =X gk =t oY B

T SIS M & TG I D O U AR 2R R
AHESl T I9ANT fhar ST =Ry ? (7)

(7) Suga Il &t weEEr ¥ R wefia 3R AT
R Aifcal & W= saR v (8)

a0

(37) Fordt Seme =t < FreiRa = wwg ve wraSer mr
T @t @ e ¥ wEr w27 (7)
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(@) U SR fGom ¥ 3m w=n wEm 7 Wv oSare

& faem ¥ R T e Wt =1 swan fear s
27
‘ (8)

A () FaST U0 | 3T R qHE 27 WK | Tollded IR
A T A A S 6 SO B oy I9ged TR
Foror =1 gae < (7)

(@) R wifviked o JEURM ® ITH GCH
TR ¥ e Tu R (8)

aT

(37) vAe Freg SUSOl @ 9 W REE R 9
TR H AR Hifoig ? (7)

(@) STgEE ITET P AT I, FAD AR T
e Oy @ 9" @ il (8)

5. Fetiag % ¥ foerdl ol W wfra fewfoer foifae -
(6x3)
(i) wefor oo fso

(i) < aRgmn % R wRRT

P.T:0.
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(iii) fomoe ¥ Afrw TR

(iv) Susirerr et SR, 2019 o TWed ITHERT Sty
IR Farw wRA

(v) ¥RAse famum @ od 3R wew

(1000)
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1. DisCu;sv the contributions of ‘Human Relations and

' Behavioural Science approach of Management to the
development of Managerial Thoughts.

OR

Why is coordination considered as the essence of
management? Discuss the principles of coordination.

2. Discuss various techniques for individual and group

decision making.
OR

Describe various elements of Business Environment.
Explain SWOT technique for environmental analysis,
with suitable example. '

3. What are the different organisational forms suggested
by ‘Mintzberg? Discuss their suitability in different
situations. |

" OR

(a) Explain Network Organization structure with the
help of a suitable example.

(b) Explain the barriers and difficulties in effective
delegation of authority? How can the organization
remove these barriers?

4. Compare Transformational leadership and Transactional
leadership. Which style is suitable for business
organizations in India. |
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OR

Define controlling. Explain the process of controlling.
Discuss the relationship between planning, organizing,
direction and controlling.

Explain the factors which reshape and redesign the
management purpose? '
OR

Write short notes on any three:
. (i) Digitalization

- (i) Entrepreneurship and Innovation

(iii) Values and Ethics
(iv)' Workforce Diversity

i R R & e e $ e e i

mﬁﬂﬁ%m&'w«aﬁﬂﬁﬁm

m l - 3
Waﬁuﬁmmmaﬁf‘mmé?w%ﬁmﬁ
ﬁaﬁaﬁﬁm -

efTd sﬂtaq%ﬁﬁ@%ﬁaﬁtﬁﬁﬂaﬂﬁaﬁaﬂw

Hifel .
'El'l'

'_mﬁﬁmm%ﬁﬁﬁaﬁtmaﬁwaﬁmlmhw
_ ﬁﬁw%mswmaﬁmaﬁsﬂﬁmaﬁa

GUEIEY

P.T.O.
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3 oo ) goe U R e o W @l ¥ 27
fafiwr feafaal 3 S Sugear ® T= FiA)
m
- () Wmmaﬁmﬁﬁzﬁwmﬁ
Rl Hifog|
(@) _Hﬁw%mm@m#_wﬁaﬂtwﬁﬂmﬁfaﬁ
| A TR 7 WIST S A W B B wehe 27
4. URSITAR AT SN TRFIT AT TN R SR
W IRE qTeA & R AT-® A Sugew 2 |
a
Frzor =t ol <iforen faaor &t vl w s

frdrerm, s, ﬁ%smaﬂzﬁuaw%ﬁamaaaﬁ,'
ﬁﬁm '
5, ﬁﬁﬂﬁﬁﬂ@ﬂﬁﬁﬁﬁﬁﬂ?%ﬁﬂéﬁﬂﬁ_
R AT wE I 'Y
| ¥
'.ﬁvaenauwfaraﬁwmﬁﬁaq
(I)Eﬁlﬁaﬂﬂr
(i) JufEr s TErR
(i) =@ AR AR
(iv) =riew Rfdwmr
' (11,000)
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I;

[ ]

“Management acco-umam collect, analyzes and presents the accounting and other
useful information in such a way as to assist the management in the planning,

decision making and control, Elucidate.
Or

Explain the distinction between cost control and cost reduction. Enumerate some
of the important tools/techniques of cost reduction and cost control.

The Budget Manager.of a company is preparing a flexible budget for the coming
accounting year. The company produces a single product. The following information
is provided:

Direct material costs Rs. 20 per unit. Direct labour averages Rs.50 per hour and
requires 1.8 hours to produce one unit of the product. Salesmen are paid a
commission of Rs.10 per unit sold. Other variable selling and administration
¢Xpenses are estimated as Rs.8 per unit. Fixed selling and administration expenses
amount to Rs.2,50,000 per year. '

Manufacturing overhead has been estimated in the following amounts under given
conditions of volume:

Volume of produ_ctinn & Sale (units) 12,000 15,000
Expen.'res Rs. Rs.
Indirect materials 2,40,000 3,00,000 |
Indirect labour 1,20,000 1,50,000
Inspection 84,000 B 1,05,000
I_Maintcnzl'nce 60,000 69,000
. LSupcm'sian 1,40,000 1,55,000
Depreciation- plant & equipment 1,00,000 1,00,000.
Engineering services ~ 80,000 80,000
E‘otal manufacturing overhead 8,24,000 9,59,000




265A
3

b

Or
ABC Ltd. a newly started com
Prepare a cash budget
and expenses.

o o pan?- wishes to prepare cash budget from January
1¢ hirst s1x months from the following estimated revenue

Month | Total Sales | Materials | Wages Production Selling &
Overheads %:Tg::;’ﬂ

Jan 20,000 20,000 4,000 3,200 800 1
Feb 22,000 14,000 4,400 3,300 900

March 28,000 14,000 4,600 3,400 900 |

April 36,000 22,000 4,600 3.500 1000 |
May 30,000 20,000 4,000 3200 | 900 \

June 12,000 25,000 5000 | 3,600 \ 1200 |

(i) Cash balance on January, 1 was Rs. 10,000.

(ii) New machinery is to be installed at Rs.20,000 on credit, to be repaid by
two equal instalments in March and April.

(iii) Sales commission at @ 5% on total sales is to be paid within a month
following actual sales.

(iv) Rs.10,000 being the amount of 2nd call may be received in March.
(v) Share premium amounting to Rs.2,000 is also obtainable with the 2nd call
(vi) Period of credit allowed by suppliers — 2 months
(vii) Period of credit allowed to customers = 1 month
(viti) Delay in payment of overheads — | month
(ix) Delay in paymcm'of wages — 1/2 month

(x) Assume cash sales to be 50% of total sales

BT.0.
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3. SP Limited produces a single product and standard costing system is followed i,

the organization. The standard cost card of the product shows the follnwing cost

of material and labour per unit :

Particulars Rs.
Direct materials (20 kg @ Rs. 2 per kg) 40 |
Direct labour (4 hours @ Rs. 16 per hour) 64

Budgeted output for the third quarter of a year was 2,000 units. Actual output

1s 1,800 units. Actual costs for the quarter are as follows:

Production and Sale | 2.000 units 1,800 units
Direct Matenials 10,000 Kg.@ Rs 2 per Kg 10,500 Kg @ Rs.2.50 per Kg
Direct Labour 8,000 hours @Rs.16 per hour | 7,400 @Rs. 18 per hour

You are required to calculate -
(1) Material Cost Variance
(1) Material Price Variance
(i) Material Usage Variance
(iv) Labour Cost Variance
(v) Labour Rate Variance
(vi) Labour Efficiency Variance

Or

ABC Industries provides the following information from their records - Standard

mix for production of 10 kgs. of a product is :

Material Quantity (kgs.) | Rate perkg(Rs)
A 4 §]
B 8 4
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During the April, 2022,

-

consumption of material was as under:

F o Malcrial__ i @l&ﬂtit}r(kgﬂ} ' Rnu':‘p_ur_kﬁ.'lltﬁ )
A 500 : 7
— I

You are required to calculate -
(1) Material Cost Variance
(n) Material Price Variance

(m) Material Usage Vanance

(iv) Material Mix Variance

(v) Material Yeild Variance

1,000 kgs. of the product were produced. The actual

(a) What do mean by P/V ratio. Discuss its importance. How can it be

improved?

(3)

(b) ABC manufacturing company provides you the following financial in formation
about their spectacles frames business which they started two years ago:

Financial Year

Financial Year

2020-21 (Rs.) 2021-22 (Rs)
Total Sales 40,000 60,000
Total Cost 35,500 43,200

You are required to compute -

(i) P/V ratio
(i) Break-even sales level

(iii) Margin of safety

Or

(10)
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SR Steel Company produces three grades of steel namely Super, Good and
Normal. Each of these three grades of steel are high in demand and the company

is able to sell whatever is produced.

The processing hours is a bottle-neck. The company is operating at 100% capacity.
The variable conversion cost per unit is at Rs.100 per process hour. The fixed
€Qst is Rs.24,00,000. In addition, the Cost Accountant was able to extract the

following information about the three grades of steel.

Product Super Good | Normal
—Budgelcd Production (units) 3,000 3,000 3,000

Selling price per unit (Rs ) 4,500 3,600 3,000

Direct Materials cost per unit (Rs.) 1,200 1,500 1,400

Process hours per unit 20 12 10
Required :

(1) Determine the contribution margin per unit and statement of profitability at
budgeted operations.

(1)) Present an analysis to management showing the relative profitability of three
grades of steel assuming processing hours is a bottle-neck.

(iii) Management wishes to improve profitability by changing the product mix.
Assuming as per management policy the production of any product cannot
exceeds 4,000 units and a minimum of 1,000 units of each grade of steel has
to be produced. Find the most profitable mix as per management policy and
profit thereon.

5. A company currently operating at 80% capacity has the following particulars :

[ Rs. |
Sales 32,00,000
!;Direct materials 10,00,000
, Direct labour 4,00,000
[ Variable overheads 2,00,000
LFixed overheads 13,00,000
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An export order has been received tha

factory. The order cannot be split, i.e.,
10% below the normal ¢
available 1o

U would utilise half the capacity of the
it has to be taken in full and executed at

omestic prices, or rejected totally. The alternatives
the management are - '

() Reject the order and continye with

the domestic sales only (as at present);
or

(1)) Accept the order, split capacity between overseas and domestic sales and
turn away excess domestic demand

Prepare, a comprehensive statement of profitability and suggest the best
alternative.

Or

Briefly explain the any two of the following statements -
(1) Responsibility accounting is an important device for control.
(1) Performance of a division can be measured on number of criteria,

(iv) Marginal costing and differential costing is one and same technique.
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Volume of production & Sale (units) 12,000 15,000
Expenses Rs. Rs.
Indirect materials 2,40,000 3,00,000
l_n:i;nec! Iabo_ur - 1,20,000 1,50,000
Inspcctio-n 84,000 1,05,000
Maintenance 60,000 69,000
Supervision 1,40,000 1,55,000 |
Depreciation- plant & equipment 1,00,000 1,00,0007
L Engincering services 30,6(_30 80,000 |
Total manufacturing overhead 8,24,000 9,59,000

14,000 SHE F I W H 7AW F A9 TR N0l

a1

Mﬁrﬁhwﬂfgﬁaﬁﬂimm%mmﬂmmmil

. Selling &
Month | Total Sales | Materials | Wages Ove] ‘“r‘;‘:‘;: Distribution
: Overheads
Jan | 20000 20,000 4,000 3,200 300
Feb 22,000 14,000 4400 3,300 900
March 28,000 14,000 4,600 3,400 900
Apnl 36,000 22,000 4.600 3,500 1,000
Ny 30,000 20,000 4,000 3,200 900
1 June 40,000 25,000 5,000 3,600 1,200
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Particulars [ Rs, ]
Direct materials (20 kg. @ Rs. 2 per kg) 40
Direct labour (4 hours @ Rs. 16 per hour) 64
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Production and Sale | 2,000 units 1,800 units ]
Direct Materials 10,000 Kg @ Rs2 perKg | 10,500 Kg @ Rs 2,50 per Kg
Direct Labour 8,000 hours @Rs. 16 per hour | 7,400 @Rs. 18 per hour
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Financial Year Financial Year

- 2020-21 (Rs.) 2021-22 (Rs.)

Total Sales 40,000 60,000

Total Cost 35.500 43,200
FIGF WO FER R -

(i) §1/& FHI=
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ar
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Product Super Good Normal
Budgeted Production (units) 3,000 3,000 3,000
Selling price per unit (Rs.) 4,500 3,600 3,000
Direct Materials cost per unit(Rs) | 1.200 1,500 1,400
Process hours per unit 20 12 10
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B I Rs]|
Sales 32,00,000
Direct materials ‘ J 10,00,000
Dhrect labour 4.00,000
Variable overheads ' ' 2.00,000 |
Fixed overheads 13,00,000
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I;

[ ]

“Management acco-umam collect, analyzes and presents the accounting and other
useful information in such a way as to assist the management in the planning,

decision making and control, Elucidate.
Or

Explain the distinction between cost control and cost reduction. Enumerate some
of the important tools/techniques of cost reduction and cost control.

The Budget Manager.of a company is preparing a flexible budget for the coming
accounting year. The company produces a single product. The following information
is provided:

Direct material costs Rs. 20 per unit. Direct labour averages Rs.50 per hour and
requires 1.8 hours to produce one unit of the product. Salesmen are paid a
commission of Rs.10 per unit sold. Other variable selling and administration
¢Xpenses are estimated as Rs.8 per unit. Fixed selling and administration expenses
amount to Rs.2,50,000 per year. '

Manufacturing overhead has been estimated in the following amounts under given
conditions of volume:

Volume of produ_ctinn & Sale (units) 12,000 15,000
Expen.'res Rs. Rs.
Indirect materials 2,40,000 3,00,000 |
Indirect labour 1,20,000 1,50,000
Inspection 84,000 B 1,05,000
I_Maintcnzl'nce 60,000 69,000
. LSupcm'sian 1,40,000 1,55,000
Depreciation- plant & equipment 1,00,000 1,00,000.
Engineering services ~ 80,000 80,000
E‘otal manufacturing overhead 8,24,000 9,59,000
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b

Or
ABC Ltd. a newly started com
Prepare a cash budget
and expenses.

o o pan?- wishes to prepare cash budget from January
1¢ hirst s1x months from the following estimated revenue

Month | Total Sales | Materials | Wages Production Selling &
Overheads %:Tg::;’ﬂ

Jan 20,000 20,000 4,000 3,200 800 1
Feb 22,000 14,000 4,400 3,300 900

March 28,000 14,000 4,600 3,400 900 |

April 36,000 22,000 4,600 3.500 1000 |
May 30,000 20,000 4,000 3200 | 900 \

June 12,000 25,000 5000 | 3,600 \ 1200 |

(i) Cash balance on January, 1 was Rs. 10,000.

(ii) New machinery is to be installed at Rs.20,000 on credit, to be repaid by
two equal instalments in March and April.

(iii) Sales commission at @ 5% on total sales is to be paid within a month
following actual sales.

(iv) Rs.10,000 being the amount of 2nd call may be received in March.
(v) Share premium amounting to Rs.2,000 is also obtainable with the 2nd call
(vi) Period of credit allowed by suppliers — 2 months
(vii) Period of credit allowed to customers = 1 month
(viti) Delay in payment of overheads — | month
(ix) Delay in paymcm'of wages — 1/2 month

(x) Assume cash sales to be 50% of total sales

BT.0.
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3. SP Limited produces a single product and standard costing system is followed i,

the organization. The standard cost card of the product shows the follnwing cost

of material and labour per unit :

Particulars Rs.
Direct materials (20 kg @ Rs. 2 per kg) 40 |
Direct labour (4 hours @ Rs. 16 per hour) 64

Budgeted output for the third quarter of a year was 2,000 units. Actual output

1s 1,800 units. Actual costs for the quarter are as follows:

Production and Sale | 2.000 units 1,800 units
Direct Matenials 10,000 Kg.@ Rs 2 per Kg 10,500 Kg @ Rs.2.50 per Kg
Direct Labour 8,000 hours @Rs.16 per hour | 7,400 @Rs. 18 per hour

You are required to calculate -
(1) Material Cost Variance
(1) Material Price Variance
(i) Material Usage Variance
(iv) Labour Cost Variance
(v) Labour Rate Variance
(vi) Labour Efficiency Variance

Or

ABC Industries provides the following information from their records - Standard

mix for production of 10 kgs. of a product is :

Material Quantity (kgs.) | Rate perkg(Rs)
A 4 §]
B 8 4
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During the April, 2022,

-

consumption of material was as under:

F o Malcrial__ i @l&ﬂtit}r(kgﬂ} ' Rnu':‘p_ur_kﬁ.'lltﬁ )
A 500 : 7
— I

You are required to calculate -
(1) Material Cost Variance
(n) Material Price Variance

(m) Material Usage Vanance

(iv) Material Mix Variance

(v) Material Yeild Variance

1,000 kgs. of the product were produced. The actual

(a) What do mean by P/V ratio. Discuss its importance. How can it be

improved?

(3)

(b) ABC manufacturing company provides you the following financial in formation
about their spectacles frames business which they started two years ago:

Financial Year

Financial Year

2020-21 (Rs.) 2021-22 (Rs)
Total Sales 40,000 60,000
Total Cost 35,500 43,200

You are required to compute -

(i) P/V ratio
(i) Break-even sales level

(iii) Margin of safety

Or

(10)
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SR Steel Company produces three grades of steel namely Super, Good and
Normal. Each of these three grades of steel are high in demand and the company

is able to sell whatever is produced.

The processing hours is a bottle-neck. The company is operating at 100% capacity.
The variable conversion cost per unit is at Rs.100 per process hour. The fixed
€Qst is Rs.24,00,000. In addition, the Cost Accountant was able to extract the

following information about the three grades of steel.

Product Super Good | Normal
—Budgelcd Production (units) 3,000 3,000 3,000

Selling price per unit (Rs ) 4,500 3,600 3,000

Direct Materials cost per unit (Rs.) 1,200 1,500 1,400

Process hours per unit 20 12 10
Required :

(1) Determine the contribution margin per unit and statement of profitability at
budgeted operations.

(1)) Present an analysis to management showing the relative profitability of three
grades of steel assuming processing hours is a bottle-neck.

(iii) Management wishes to improve profitability by changing the product mix.
Assuming as per management policy the production of any product cannot
exceeds 4,000 units and a minimum of 1,000 units of each grade of steel has
to be produced. Find the most profitable mix as per management policy and
profit thereon.

5. A company currently operating at 80% capacity has the following particulars :

[ Rs. |
Sales 32,00,000
!;Direct materials 10,00,000
, Direct labour 4,00,000
[ Variable overheads 2,00,000
LFixed overheads 13,00,000
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An export order has been received tha

factory. The order cannot be split, i.e.,
10% below the normal ¢
available 1o

U would utilise half the capacity of the
it has to be taken in full and executed at

omestic prices, or rejected totally. The alternatives
the management are - '

() Reject the order and continye with

the domestic sales only (as at present);
or

(1)) Accept the order, split capacity between overseas and domestic sales and
turn away excess domestic demand

Prepare, a comprehensive statement of profitability and suggest the best
alternative.

Or

Briefly explain the any two of the following statements -
(1) Responsibility accounting is an important device for control.
(1) Performance of a division can be measured on number of criteria,

(iv) Marginal costing and differential costing is one and same technique.
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Volume of production & Sale (units) 12,000 15,000
Expenses Rs. Rs.
Indirect materials 2,40,000 3,00,000
l_n:i;nec! Iabo_ur - 1,20,000 1,50,000
Inspcctio-n 84,000 1,05,000
Maintenance 60,000 69,000
Supervision 1,40,000 1,55,000 |
Depreciation- plant & equipment 1,00,000 1,00,0007
L Engincering services 30,6(_30 80,000 |
Total manufacturing overhead 8,24,000 9,59,000

14,000 SHE F I W H 7AW F A9 TR N0l

a1

Mﬁrﬁhwﬂfgﬁaﬁﬂimm%mmﬂmmmil

. Selling &
Month | Total Sales | Materials | Wages Ove] ‘“r‘;‘:‘;: Distribution
: Overheads
Jan | 20000 20,000 4,000 3,200 300
Feb 22,000 14,000 4400 3,300 900
March 28,000 14,000 4,600 3,400 900
Apnl 36,000 22,000 4.600 3,500 1,000
Ny 30,000 20,000 4,000 3,200 900
1 June 40,000 25,000 5,000 3,600 1,200
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Particulars [ Rs, ]
Direct materials (20 kg. @ Rs. 2 per kg) 40
Direct labour (4 hours @ Rs. 16 per hour) 64
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2| foemét & for awafas anm 28 waw 2

Production and Sale | 2,000 units 1,800 units ]
Direct Materials 10,000 Kg @ Rs2 perKg | 10,500 Kg @ Rs 2,50 per Kg
Direct Labour 8,000 hours @Rs. 16 per hour | 7,400 @Rs. 18 per hour
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Financial Year Financial Year

- 2020-21 (Rs.) 2021-22 (Rs.)

Total Sales 40,000 60,000

Total Cost 35.500 43,200
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Product Super Good Normal
Budgeted Production (units) 3,000 3,000 3,000
Selling price per unit (Rs.) 4,500 3,600 3,000
Direct Materials cost per unit(Rs) | 1.200 1,500 1,400
Process hours per unit 20 12 10
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Direct materials ‘ J 10,00,000
Dhrect labour 4.00,000
Variable overheads ' ' 2.00,000 |
Fixed overheads 13,00,000

vw fadia sitS wra gan @ & ey & Fmit swar @ v Fwam dE w5 A
8 facar o @ #, s, T ol w0 A forn e arfe St wEE W B A 0%
e  Eyenfea fai W iRy, @ O wE ¥ @ite o R s @i s\ ® v

Iu= fawe 2
(i) sty @) FETER a1 AN daw W A W @ (T /), T

(ii) aﬁtaﬁﬁmﬁ,ﬁ%ﬁaﬁzﬁqﬂﬁﬁhmﬂmﬂaﬂtaﬁﬁﬂ
ﬁqqﬁaﬂqgﬁ,mmwwmmﬁ R wEem e =

qaa 2
| an
ﬁwﬁ;ﬁmﬁﬁﬁﬁﬁﬁmﬁfﬂmﬁmﬁﬁm:
(i) 3?«mﬁﬁa'éﬁmmaW%dmnz&1ﬁq1ﬁﬁinﬁumﬁ:mnﬁnnin
(il wmﬁﬁﬁqﬂﬂ‘lﬁfﬁmwmmtl
(ii) mmaaﬁf#ﬂ?mwf!mil

(9000)
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d domestic company, has provided the following information for
j. (a) X Ltd., 2

on 31 March 2022:
1. Total income computed as per provisions of Income-tax Act

2. Profit as per statement of profit and loss

3. (a) Items deducted in statement of profit and loss:

(a) Provision of income tax
{b) Provision for deferred tax
(c) Provision for dividend

(d) Dividend declared
(e) Expenditure to earn agricultural income

(f) Depreciation

(including depreciation of Rs 2,00,000 on

revaluation of assels)
(b) Items added in statement of profit and loss:
(a) Transfer from special reserve
(b) Agricultural income

the year endeqd

Rs.

40,00,000

70,00,000

8,50,000

60,000

1,50,000

2,40,000

1,00,000

4,50,000

2,00,000

4,00,000

8,00,000
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5. Brought forward depreciation as per books of account 17,00,000
6. Brought forward business loss as per__lncumc-lax Act 6,00,000 o 0
7. Brought-forward dcprc:::ia!ion as per Income-tax Act 18,00,600 .?.'Oq_
You are required to compute the tax liability of the company and tax credil‘io be carried a‘?o
forward, if any. (10) )
(*)Wf?ﬁé‘?,Wﬂ}@m,#mmﬁznzzﬁmuﬁﬁﬁmﬁﬁ%ﬁ’qﬁm. ||
W @ #- : |
®
1 wmER siftfamy & wamEl @ e oA & ad e 30 40,00,000
2. W™ 3R B fEEm & FFER @™ 70,00,000
RGN R e ."II
|
(=) ImE & wEu 8,50,000 sz.{}
(@) amafig & & fow waus 60,000 |
() =i & fow e 1,50,000
e
(%) wiftm s 2,40,000 ”
(7)) P owm afiia wE @ fw = 1,00,000
() ew
wafq @ YREaE W 2,00,000 TR 4,50,000
P.T.O.
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2
® e wfta)
(@) w3k wif & fam ¥ 9 o
(&) fdm fRed A e 2,00,000
(@) wh am :. 4,00,000
4. WA w F g B9 wild & mmr s -spu,uno
5 W@ aﬁ TR DY W g 17,00,000
6. waw fufmwm @ sEr A% Wi amw wf 6,00,000
7 R sfutem @ e @8 widd aeem 18,00,000 2

i L R R T T T T Gp——
(b) What are the provisions with regard to carry forward and set off of losses of compani
in which public are not substantially interested under section 797 (

mm&aﬁﬂaﬁmaﬁqﬁn\'ﬁmﬂmﬁaaﬂé,aﬁﬂéaﬁﬂﬁi
W R e A @ wEn ¥ owr wmue 20

OR

rerarn

(a) Total income of a domestic company for the assessment year 2022-23 is Rs. 45,80,00

including Rs. 5,00,000, being long-term capital gain from transfer of land. Book profits o

company under section 115JB is Rs. 85,00.000. Compute the tax payable by the compan

for the assessment year 2022-23. Also compute the tax credit, if any under sectiol
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115JAA.
(10)

s 9§ 2022-23 ® R UE WY FE A [HA I 4580000 ¥ B T
qﬁ%smmis,w.ommﬂmmﬁimmﬁmﬁaiq aa 11598
2 mea w = 3T Wik 85,00,000 ¥ 2 wEeT ad 2022-23 & faw =
:ﬁ?mﬁmﬂﬁmm 11SJAA & asa 2aw 3z, o = &, A 0 T

| !

(b) Distinguish between Tax planning, Tax Evasion and Tax Avoidance. (5)

o WA, F E Ak W WEw A g we H

r Seccluron

(\3)

Explain the provisions with respect to the dividend policy of the company unde

2(22).
umzaz}ﬁ?mﬁﬁnﬁmﬂmﬁﬁl%mmﬁuﬁmaﬁﬁm

OR

Fadal

X and Y want to start a business on | April 3021 which is expected to carn the profit

of Rs. 70,50,000 betore the payment of interes and remuneration to X and Y. From tax

planning point of view, give your suggestion as o which form of organization they should

establish with the help of following information:

(i) To start a parinership firm, X and Y will contribute Rs. 12,00,000 each as capital and
Rs. 8,00,000 each as loan. They will draw maximum interesl pcnnissih'.c under section

s well as on loan and maximum remuneration permissible under

40(b) on capital a
section 40(b).
P.T.O.
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(i)) To start a sole proprietary concern which will be owned by X, he will 'm"“'ibutc;
20,00,000 as capital. 'Y will join him as an employee on a r€muneratiop of |

6,00,000 and will give a loan of Rs. 20,00,000 @ 15% p.a. : (15

(1) W uf ﬂ'ﬁmﬂ?%’;’.m&ﬂ?m'iwahﬂz.oo,ouom&mrﬁvmiﬁﬁ%m
aiha.on.onum&a:rﬁwmarura}m#ﬁmﬂumau[ma}m ot 3w

arge of Rs. 3,000 Will be paj
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Assuming the rate of tax 1o be 35.88%, depreciation rate 1o be 1%, tié. siber sischine

in the block having same rate of depreciation, suggest whether Mr. X should acquire the

machine with borrowed funds or take the machine on lease while taking the discounting

rate to be 10%. Incorporate the impact of tax savings or tax loss while taking the decision.

The present value factors at 10% discounting rate are:

Year

PV Factor

: 2 3 4 5 6 7 8 9 10

909 .R26 751 683 .621 586 513 467 424 386
(15)

firer vam Wz wwdcw @ fRede wm@ #1 as 0 sl 2020 W 1000000 T A
safas I & fv vE AWe WA aeen wmen 21 Wi w1 anfdE S 0 A
21 108 of & 31 W = W W wer R Swpm sk 3R 80,000 TIA W AW AL
sg% wE ¥ B &

(1) i ey & fa ¥ A @ 10% W 3 F = W 10,00,000 @1 FT A1, WET IA

(ii)

63 =§ & 3 ¥ 2,00000 ¥R W FV g & 3k 10 A A Sia ¥ W wwEr O Al
anf

10,000 T & UZT WU YFh & A4 10 adf & fv 2,00,000 ¥ & aftw fFav @ w2

mwﬁmmlﬁaﬁmwnﬁmaﬁaﬁgﬁmﬁﬁwm#mmm
gﬁﬂwﬁﬂwﬁﬂaﬁgﬁmﬁﬁmmﬁlﬁmzﬁﬂmmﬁoﬁﬁ%

3 ¥ 3,000 ¥99 @ WAA @ SO

F7 @ W 35.88% WHA §Y, TR H IS%.WHE’rmﬂalém#m‘tim
T A8 2 gﬂﬁﬁﬁwﬁiwm’hvﬂaﬁmﬁtﬂiuﬂﬂﬁl%mmmm

wﬂw%ﬂmwalﬂ%%mﬁm%ﬂﬁ@mﬁﬂuﬂ%mmmmmuﬁ
& yw@ # wiAa F

P.T.O.
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8
10% @2 = W aded &= Bael ¥
Yar | 2 3 4 5
PV Factor 909 826 .?5] 683 621
OR
Jedr

6

-586 513

467

424 386

(a) Mr. Xis offered an employment in a company on 1-4-2021 on a basic salary of Rs. 50,

p.-m. and dearness allowance of Rs. 15,000 p.m. (80% of which shall be part of retiren

benefits). He is offered the following options in respect of allowances/ perquisites

retitement benefits:

Particulars Option | (Rﬂ} OPtion 1 (R!
House rent allowance 15,000 pm. | -—-—
(entire amount (o be paid as rent)
Rent free dccommodation to be hired by employer
on a monthly rent of Rs. 15,000 e
LMcdical allowance
3,000 p.m.
Reimbursemen; of medical bi]]s for the lreatment of
Mr. X in a private clinijc e
Employers contribution to employee's RPF 12,000
X p.m
Bonus
12,000 p.m

F . ; .
fom tax planning poing of view, which package should M, X opt for keeping in mind
. X o PHg in mind

assessment year 2022-239



N 1500;1_!%-213 —
| O s @ kg o W
| -Wm.mﬁn’lmmw,um—— -_415,000!1%:4@
mtnﬁ:ftﬂuwﬁmﬂmﬁm
STuaT
}_Eﬁ?ﬂr LU ~ |3,000 s
ﬁmﬁaﬁm#ﬁmmtmtfﬁn'-__ﬁ 36,000 SRz
[ﬁﬁmﬁmﬁmﬁ
tmmtmﬁmmmm 12,000 shwE [

éﬁwmﬁhaﬁgﬁz%sﬁmﬁmﬁdzm-zaaﬁmﬁmﬁmﬁwﬁﬁ
F gAE T ARe?

(a) Explain the special provisions related to certain income of a non-resident under section

115(C) to 115(1) (10)

T IlS{C)‘éIIS(!)%mWﬂﬁﬁlﬁﬁﬁﬁﬁmﬁmﬁf&ﬁqmaﬁ
R FfoTvl

(b) Write a short note on Double Taxation Avoidance, where a country has Double Taxation

Avoidance Agreement with the foreign country, under section 90A (5)

P-T.O.
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mqu{A)ﬁmﬁﬁWﬁmWWmﬁzm.ﬁﬁ&ﬁ
ﬁ%ﬁhaﬁmﬁnwmmﬁmil

OR
Sreran

(a) What is arm's length price? Explain the most

appropriate method of Computation ,
length price’ under section 92C.

uASARRET gy T (arm's le

ngth price) & 87 wmy 928 ® T @ A=
aﬂmaﬂaﬁmﬁﬁr

= Fifm

(b) What is Advance Ruling as per Sec 24

5N(a)? Under what circumstances the aur}
shall reject the application fo

r Advance Ruling.




9

11

(b) Explain any two differences between Amalgamation and Demerger as per the provisions

of Income-tax Act. (5)

s U # yEuE @ SER Faee ik S @ de @ s F1oaem
E i

OR

Heaan

(a) What are the conditions which must be fulfilled in case the transfer of capital asscis b

a firm 1o a company is not to be treated as "transfer’ under section 47(xiii) for the purp

of computing income under the head Capital Gains? 10y

3 FR-6 T gR A afer W R W e R s W gle wufe W R
A GiTE W R AR AW A A D IR A U@ 47(xii) FAEA GG & w9

¥ w8 W amen # 7

(b) Any transfer of capital assets by a company to its Indian subsidiary company or by a

subsidiary company to its Indian holding company is not treated as ‘transfer’ under section

47(iv)/ (v) for the purpose of computing income under the head Capital Gains. What are

the cases in which such transaction which was not treated as ‘transfer’ carlhier will be

treated as 'transfer and the profits and gains ansing from such transfer will become

taxable under the head Capital Gains? 5)

mﬁmaﬁmmmﬁﬁmmmmmmﬁwmﬁﬁgn

ﬁﬁWWﬂﬁﬁWwd?ﬁﬂfﬁ}%MwEﬁm%

P.T.O
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12

W%mwwmﬁé%m‘m’%wi?ﬁmménﬁ
uﬂw%mﬁiﬁlﬁﬁmﬁiﬁwﬁrﬂwﬁ'gm’aﬁwwm, TER F wy
ﬁwmﬁmmﬁ.'mammmwmmmwﬂm
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ol @ g Adm

1

@ yH-13 & fieR & W Ry mw AulRe o w g,
s fafag |

a9 g afFEd ?)
TAE U R HF W B

W WH-TT F IW HAN B R v v ¥ AR,
AT o I = M vE B B Tlke

What do you mean by Entrepreneurship? Why is

entrepreneurship considered as a Creative Response

to Society’s Problem?

A A A T W 27 IufEr w w8 e @
fore e wiaferar =@ s o 29

OR
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2. (a) State various attributes of entrepreneurs:

wﬁﬁﬁﬁﬁﬁﬁﬂwﬁmaﬁﬁaﬁﬁm

(b) Explain the concept of Entrepreneurial Motivation.

STl WO HEUROT & 1

OR

P.T.O
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Explain the entrepreneurial Mind-set jp the

contemporary Business Scenario?Also discuss the

mechanism of coping with high risk-propensity of an

entrepreneurs,



267 ) S

OR

(a) What is Make in India Initiative? why is it essential

for the survival of Indian Economy?

ﬁa?aﬁmm@r%?ﬁnﬁamﬁttﬂﬁa
?ﬁ%mwﬂ-m%?

(b) Discuss the role of Self-help groups in the

promotion of entrepreneurship in India.

WRE # Jufrar & dadq ¥ g werer i @ i
o |

r.1.0.




267 6 -

4. How business ideas are generated? Discuss 4,

mechanism of idcmifying a business opporlunity in

your surroundings where you are placed.

Wﬁwﬁ%mﬁ%??aﬁm-wwm
ww%,aﬁmm%mﬁwaﬂ%%aﬁw

|l Fiferg)

OR

Develop a business Plan to produce designer shoes

for women meant for high-end Customers.

Hf@mﬁ%%vﬁmﬁ%%vﬁmm@ma}
ﬁ?wwzﬂmﬁmaaﬁml
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5. Describe the steps in developing o Munngement
succession plan for a growing business that sllows &

smooth transition of leadership to the next generation?

v g wan & R vy gefiesn droen fafa
= R Tk Wl R W A B o g
F UF wEW URaed B sy 27

OR

Explain the inherent strengths enjoyed by family

business. [s there any need for succession planning in

family business?



267 8

mﬁmﬁwmmaﬁﬁﬁawaﬁ%%
w%ﬁﬁﬁaﬁw#ﬂﬁmwﬁﬁaﬂm%? |
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2. a\%ﬁ?m?ﬁﬁ?l

3 wWltymEH dE DT
4 TENE-TE I i R e e v & e, Af
ot I T WA U B BT ARy |

1. (a) Explain the various components of financial

system. | ) (8)

(b) Explain the role of money market in the financial

system of the country. (7)
OR

(a) Discuss the major developments in Indian financial -

system in last 10 years. (8)

(b) Explain the t‘i.ifferent instruﬁlents traded in Indian

Debt Market. €]

(a) Explain the significance and functions of Capital

market. | | | (8)

(b) Explain the important reforms and developments

in the Capital market. (7)
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OR

(a) What do you mean by primary market? Explain

the functions and advantages of primary market.

(8)

protecting the interest

(b) Explain the role of SEBI in
(7)

of investors.

3. “Banks are important Financial Institutions in the

Financial System”. Describe the various functions

performed by Commercial Banks in India. (15)

"~ OR

(a) Explain the implications of the “Insolvency and
Bankruptcy Code 2016 on the financial system.
(8)

(b) Briefly ¢xplain the concept of financial inclusion
and the initiatives taken by the Indian Government

to achieve financial inclusion. (7)

1..

~

W X
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4. (a) Describe the role of Mutual funds in the growth

of Capital market in India. (8)

(b) Describe the different types of insurance policies

offered by Life Insurance Corporation (L’IC) in
India. M

OR

(a) Describe the different types of Non-Banking
Financial Companies (NBFCs) regulated by RBI.

®)

(b) Describe the structure of Mutual Funds in India.

| (7)

(a) Define Merchant Banker and describe the different

types of services provided by the Merchant
Bankers. _ ' ~ (8)

(b) Explain the growth of Consumer Finance in India
and also distinguish between Open-end Revolving

- credit and Close - end Installment credit. (7)

OR
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(a) Explain the importance of Credit Rating to money
lenders and borrowers. (8)

(b) What is Hire Purchase Finance? What are the
differences between Hire Purchase System and

Installment Purchase System? (7)

1 (&) ﬂﬁam&.ﬁﬁwwﬁmml (8)

(@) ¥ N RN womeR ¥ 7 AR D R
B~ | | . Q)

a1

() fiod 10 oot & wrede feim wome ¥ W Rww w

< ¥ O

(@) WA w2 W ¥ WO R T A R ST
W W wife f (7)

2. (&) 4R wOm @ weer sk Wl W@ wweEn Wk
| (8)

- -—
i



270-A 6
(1) R wom ¥ wmeqt guR oK R A s
Fifw) (’7).

a1

(%) Wufie wrew ¥ omw w@ w37 WERE AR
wdl ¢q W # e #if - (8)
(@) P B A o A WA P R
A | - ()
3 aﬁmm*ﬁﬂﬁqﬁﬁﬁﬂﬁm?”lm
ﬁmﬁmmﬁﬁﬁ%m“w
Fiforg | . (15)



[}

-4
(%)

7

mﬂﬁm' (8)

P T.O.
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ar

(%) e s wolerl W Bfte T * o A =R
_!ﬁﬁm (8)

(%) mwaﬁmnmmmmm
wqT womedt B o ofew @ 7 (7)
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2. W™ vH afRad #
3 ot v R oy wae B

4 mm-wmmmmﬁﬁﬁrﬁwwﬁ%&,
ﬁmmmmmwﬁmaﬂm

(a) “Organization Behaviour represents interactions

among individuals, groups and organization itself ”
Comment on this statement and explain the

challenges for Organizational Behaviour,

(8)

(b) Which model of Organizational behaviour depends

on the power of the boss and managerijal

Orientation a5 g part of official authority? Discus

this model ang j¢ features. (7



~ . J

FferwReE Wi ® vw B @ W A grsTem
TR H WA-W A A @ wRE dR vEuEm
SWfR= W AR e 87 gw Atee o TEE R
W wd g

OR
Aerar

(a) What are the contributing disciplines in the field
of Organisational Behaviour? To what extent is
OB knowledge useful for mangers in facing the

emerging challenges? (8)

mm%%ﬁmﬁaﬁmw
a?mmmmwhﬁuﬁ%mm
9 e ge 9@ IEnh 27

(b) Which model improves employee-employer
relations by providing economic security?

Elaborate this model and its main feature by giving

examples. | (7)
P.T.0.
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- dge lidE qeen wee w0 wAa - P
Ul =Y AA w87 JamOn AT 59 AWiEe AR gae
e fafmar @ awwEg

2. (a) What is Personality? Examine the factors

determining personality by citing relevant examples.

(8)

e @1 87 WRie: JeEwl 1 Bt od §Y Afddd
1 Fuits F& 9@ FwRE @ T Ffiw

(b) Discuss the concept of Perception. What are the

elements of perceptual process? Discuss (7)

FAUROM  (perception) & HAURON W A
FAUROTSE Wfhar & ae @ g7 wE Hiw

OR
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(a) What do you understand by reinforcement in
learning? How does it help in shaping the behaviour
of people? Explain the positive and negative

reinforcement strategies (8)

Foew A oo ¥ F9 w w7 g% a @ waER
e ¥ B WeT A B GHENAF AR AFRAE
VT WA @ e i)

]

(b) What is meant by Value? Explain the Terminal
and instrumental value. Discuss how instrumental

value assist in achieving end state of existence.

(7)

W%mm%?mmmﬂﬂ%aﬁﬁ
mnmﬁmmﬁaﬁmmim
Wﬁmwﬁ?,wwﬁaﬁﬁm

3. (a) Explain McGregor’s Theory X and Y. How is
Theory Y an improvement over the traditional view

that you can motivate employees by paying them

more money?

(8)
P.T.:0.



266 6

ﬂwﬂmaﬁuﬂﬂmaﬂ?ﬂﬂﬁm@mmﬂﬁw

ﬁwﬁﬁg&mwwwiﬁmmm
o FftE dur I ARG w gwa F?

(b) What are the essential characteristics of a good

communication? Distinguish between formal anq

informal communication?

(7

U ¥ WOR D JaWE AW a9 27 i sk
SRS FOR B A" R Hie?

OR
Har

(a)Distinguish between hygiene factors and motivation

factors. To what extent is Herzberg’s Theory of

motivation useful in organisations?

(8)

warmzﬁsﬂﬁmam?f%mm%mﬁjﬁ
mﬂmwﬁaﬁﬁmmwaﬁﬂi‘m%?
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(b) Explain the four quadrants of Johari Window. H
¢ ow

can it help in improving interpersonal relationg?

(7)

Wl R B ar ape N wen fRe g8 aweks
HE H W qF A DY AT B Gl 27

4. (a) Why are groups formed in organisations? What

factors contribute to group cohesiveness? (8)

TS ¥ E T T 27 WE AErd A - DD
e FW B |

(b) “A good leader need not be a good manager, but
an effective manager must have many of the
qualities of a good leader. “Comment and

distinguish between a manager and a leader (7)

‘g FOS A W TH ST VAUE T W DA
w6 2, AT TEH AV VEEE A UEH I AN B wE
o B =iy’ Rewdt i S vw wEuE AW vw

dar & 9 FAR How
P.T.O.
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OR

(a) What is meant by group dynamics? Explain how
the small groups arise in the organisation. Also

explain the role of group norms. (8)

TE W wfefiear w1 w7 3 27 gwme B wnasT ¥
O WE X I BN ¥ W A & v
BEEIE

(b) Identify the leadership styles describing the
situation under which each style is useful. What

factor influences the choice of leadefship style?

(7)

[T v ot ger WMo =0 vea e s @z

TR Al I R Ay A W e @) e
FE NI war 27
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5. (a) Define organization culture and also explain the

main characteristics and components of culture.
(8)

mmﬁqﬁnﬁaﬁmwa@vﬁﬁg@
AR T v | W FEEEg

(b) Conflict in organisations is inevitable and to someé
extent even desirable.”Elucidate this statement and
explain the different types of strategies for

resolving conflicts. ' (7)

g ¥ @t suRed @ AR T TE @ woaa W
2 w8 wu T e Ffwe AR AT B D
forp fafeeT WER 9 TFTE e Hifl

OR

Read the following case carefully and answer the

questions given below:

P.T.O.
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Starbucks has gone through significant changes in.i\
its organizational culture. These changes are bage "|
on issues and problems leaders like Howarg'
Schultz and Howard Behar identified. As a way
of enhancing business performance, Starbucks
instituted reforms in its organizational culture.
Today, the company’s organizational culture is a |
distinct characteristic that builds competitive
advantage and develops a consumer population of |
loyal Starbucks fans. Starbucks has a servant
leadership approach, which significantly
characterizes the company’s organizational culture.
In this approach, leaders, managers and
supervisors emphasize support for subordinates to
ensure that everyone grows in the company: This
feature of Starbucks’ organizational culture
translates to the employees-first approach. The
company highlights the importance of caring for

employees. Former Starbucks President Howard

Behar developed this feature of the firm’s
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organizational culture because he believed that

employees who are cared for are the ones who

care about customers. Starbucks cafés, baristas

exhibit warm friendly bonds with each other. This
feature of the company’s organizat-ional culture
extends to customers, who are also treated with
warmth. Through emphasis on relationships,
Starbucks develops the coffee culture that drives
consumer demand for the company’s specialty
coffee products. Starbucks encourages
collaborative efforts through effective
communication. At the cafés, baristas clearly
communicate with each other to fulfill orders. Also,
they collaborate as teams to make the order
fulfillment process efficient. Thus, Starbucks’
organizational culture supports efficiency in
business processes, which contributes to quality
of service, customer experience, and business
cost-effectiveness. Initially, employees had a

culture of fear to speak up to their superiors. To

P.T.0,
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address this jssue, former Starbucks President |

|

Behar introduced open forums to encourage |

employees to ask questions and communicate with '|

Superiors. A culture of openness developed.
Through this feature of its organizational culture,
Starbucks empowers employees and facilitates
innovation. Starbucks has an anti-discrimination
policy that shapes its organizational culture. This
policy prohibits any form of discrimination based
on gender, race, ethnicity, sexual orientation,
religion, age, cultural background.s, life experiénces,
thoughts and ideas. Through this feature of the
organizational culture, Starbucks facilitates sharing
and rapport among employees, as well as innovation
based on diverse ideas. This aspect of the
company’s organizational culture also makes

customers feel welcome at Starbucks cafés. -

(4+4+4+3)
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I~

Questions:

' Analyse the Starbucks significant changes in the

Organizational culture of Starbucks Corporation.

2. Comment on the Anti-discrimination policy of the

Starbucks that shapes its organizational culture.

3. What kind of Coffee culture has been develop by

starbucks to attract the consumer?

4. What have been done by Starbucks President to

encourage the employees? Discuss

fAmfefeas w9er #1 wFgEE 9’T i R Re oy

wREEE FOA GeAE qefd F g aRed S ¥ o
21 A gedE 39 q9 AR GRS W ImRka ¥ R wred
Yo R FaS AR O A A T B A ® e
#F get & vE a0 & ¥ A, TREHE A AN qaHS

g B
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I. (a) “The aim of marketing is to make selling
superfluous.” In the light of this statement explain
what is marketing. (7)

”ﬁwﬁma%mﬁaﬂa% FAEEE I 21 29 U
@ Hefeh ¥ e Ao g a2

(b) How does change in a countries population age-
mix and the growth of ethnic and racial diversity

affect the marketer? (8) I\

Rt 2 Y e o - R ¥ o e s
T R R 3 R w2 g @ 27

2

.,_\l
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OR

(a) “Holistic marketing acknowledges that everything
matters in marketing and a broad. integrated
perspective is often necessary.” Elaborate the
statement. (8)

“mﬁwm@wm?ﬁwﬁwwﬁma@m
& ﬁﬁm,@ﬂqmtﬁmmm
ﬁm%n”mmaﬁmﬁml

(b) Explain how the marketing of services is different
from the marketing of goods. (7)

a8 FHeR o sl 1 Rove wgat @ R 3 B
R o= 2

(a) What are the types of buying motives of a
consumer? Give suitable examples (7)

IO & R -WOT & FER w1 B? I9qE IeTT
aiforel
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(b) What 1s market segmentation? Suggest ways to
segment the market for

(1) Mobile Phone
(1) Bicycle (4 4)

wmﬁww%?ﬁwﬁ@a%%qmﬂ
TR FA D TS G-

(i) e @
(i) wrsfea
OR

ar

(a) A consumer wants to purchase a Lapt0p Explain
his buying decision process. (8)

v TR AN W T e e
wishar &t = &ifsi)

(b) leferentlate between mche marketing and
segment marketing. ; (7)

- e A 3k @ (segmenf) Ry 2 T FHeR \1'.
T
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b (a) What is product mix? Explain the various product

mix slrategles (7)

mﬁuﬁwi?ﬁﬁqwﬁmmﬁﬁﬁfaﬁ
e Fifew)

(b) What is the significance of packaging? What are
the main areas of concern? (8)

ﬂ%ﬁhmwmﬁ?zﬁﬁw%waﬁmi?

OR

(a) Differentiate between line extension and brand
extensions. (8)

Wmﬁ?sﬂtﬁvﬂ%ﬁﬁ%ﬁamaﬂmt

(b) “Product support services help the seller augment
the product sold.” Explain | (7)

“Ieire FIT AT BRA F A W IWE F q@E ¥

7z & 817 e Sl
P.T.O.

6
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(a) How does a vertical marketing system differ from
in  (7)

a conventional marketing channel? Explain
vE affEd WA Rew TRIRE AR A § B
o B 27 =sarem Fifow

4.

(b) Explain the various factors which influence the
pricing decision of a firm? (8)

i & wea o folr @ wif w@ Ao @i
FEH H AR Hiforg 7 | /
OR |

Harn -
|

(a) “Nonstore retailing has been growing much faster

(8) |

than store retailing.” Explain
2R R o e ¥ AR Refr wma AR A |
@ 21" =Em i |

(b) Differentiate between cost based pricing and valu® |
()|

based pricing?

mmuﬁaq@ﬁummwm@ﬁuw
& 9 Fw A

7
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(a) “It is five times more expensive to find new
customers than to retain existing customers.” In

the light of this statement explain relationship
marketing? (7)
VRIS WEH B T @y A g A v IS R
Qe I T ARE WEwW R ww wuw 3 s A
Rt w=fes &t aren SHifvw?

(b) What is Integrated marketing communication? What
factors have led to its growth? (8)

vEhiFa fue uR @ 37 B R X e gfe @
e far 27

OR

dar

(a) “Digital Marketing involves using several forms of
digital communication to connect with potential
Customers.” Explain (8)

Rivres wrdfen ¥ wvifaw et ¥ ge @ foe Rfes
TR R W W o gwdw e whe 317w
Fifrg

P.T.O.
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(b) How would you design a promotion mix for a
shampoo for men? (7)

Y g @ W @ g e e B Ao w7

(20,000)
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I. (a) “The aim of marketing is to make selling
superfluous.” In the light of this statement explain
what is marketing. (7)
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(b) How does change in a countries population age-
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OR

(a) “Holistic marketing acknowledges that everything
matters in marketing and a broad. integrated
perspective is often necessary.” Elaborate the
statement. (8)

“mﬁwm@wm?ﬁwﬁwwﬁma@m
& ﬁﬁm,@ﬂqmtﬁmmm
ﬁm%n”mmaﬁmﬁml

(b) Explain how the marketing of services is different
from the marketing of goods. (7)

a8 FHeR o sl 1 Rove wgat @ R 3 B
R o= 2

(a) What are the types of buying motives of a
consumer? Give suitable examples (7)

IO & R -WOT & FER w1 B? I9qE IeTT
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(b) What 1s market segmentation? Suggest ways to
segment the market for

(1) Mobile Phone
(1) Bicycle (4 4)

wmﬁww%?ﬁwﬁ@a%%qmﬂ
TR FA D TS G-

(i) e @
(i) wrsfea
OR

ar

(a) A consumer wants to purchase a Lapt0p Explain
his buying decision process. (8)

v TR AN W T e e
wishar &t = &ifsi)

(b) leferentlate between mche marketing and
segment marketing. ; (7)

- e A 3k @ (segmenf) Ry 2 T FHeR \1'.
T



263 A SO \

» \ 1 !
| st N
) s S
3. (a) What 1S P
mix Strattixs o
N L >
v NN - N
- i; Q::\‘\.;: :\»\-\r “*\\
I Rya &3 ¢
e Sl
" -~ I e e =P '-"‘h Fa—::: .::-t
(b) What is the significsnoe ¢f zaXerm?
the main areas of como=—" (N\)
ﬂ%hnwweai?zﬁ? o N
OR
T
a 1 .
( )D!fferentlate thweﬂ, %
extensiong. O Gty
- ),’" ¢ y ;’
ey L
A g 4 /
/
(b) Prodyc¢ $UPPory Yy
the Produyct $0ld + Vigy ba "y /4
‘ * p’#}” ¥
"‘G (]
f‘w"" 1 3
TE FR ¥ = o T4y, /)
. Wy f



263 5

b (a) What is product mix? Explain the various product

mix slrategles (7)

mﬁuﬁwi?ﬁﬁqwﬁmmﬁﬁﬁfaﬁ
e Fifew)

(b) What is the significance of packaging? What are
the main areas of concern? (8)

ﬂ%ﬁhmwmﬁ?zﬁﬁw%waﬁmi?

OR

(a) Differentiate between line extension and brand
extensions. (8)

Wmﬁ?sﬂtﬁvﬂ%ﬁﬁ%ﬁamaﬂmt

(b) “Product support services help the seller augment
the product sold.” Explain | (7)

“Ieire FIT AT BRA F A W IWE F q@E ¥

7z & 817 e Sl
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(a) How does a vertical marketing system differ from
in  (7)

a conventional marketing channel? Explain
vE affEd WA Rew TRIRE AR A § B
o B 27 =sarem Fifow

4.

(b) Explain the various factors which influence the
pricing decision of a firm? (8)
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OR |
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|

(a) “Nonstore retailing has been growing much faster

(8) |

than store retailing.” Explain
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(b) Differentiate between cost based pricing and valu® |
()|

based pricing?
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(a) “It is five times more expensive to find new
customers than to retain existing customers.” In

the light of this statement explain relationship
marketing? (7)
VRIS WEH B T @y A g A v IS R
Qe I T ARE WEwW R ww wuw 3 s A
Rt w=fes &t aren SHifvw?

(b) What is Integrated marketing communication? What
factors have led to its growth? (8)

vEhiFa fue uR @ 37 B R X e gfe @
e far 27

OR

dar

(a) “Digital Marketing involves using several forms of
digital communication to connect with potential
Customers.” Explain (8)
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TR R W W o gwdw e whe 317w
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(b) How would you design a promotion mix for a
shampoo for men? (7)

Y g @ W @ g e e B Ao w7

(20,000)
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L. (a) Cemcally evaluate the ‘Payback period’ method of evaluation of long term projects

mﬁqw@%mﬁ W g’ ﬁﬁwmﬁmw%\n

(b) Stadle Ltd. is presently having a manually operated machine which was purchased ten

years ago. It has a book value. of Rs. 1,00,000 and remaining life of ten years. The
N e considéring replacing the old machine with a fully automated machine ata
cost of Rs. 2,60,000. It is’ expected to have a ten-year.life and a salvage value of Rs.
©20,000. The new machine is estimated to lead to a cost saving of Rs. 60 000 per year.
The company has been offered Rs. 80,000 for the old machine, if it is sold now. The tax
rate for. the company is 40% Straxght line method of depreciation is used. The company
_expects a minimum return of 12% per annum on its mvestments Should the machine be
: 'replacedé o : ; ' | el Se o (5,10)



S | | B .2 

() e oty & T T X T Y T AR v e E O A  wwwn n
T% g © 1,00,000 R @ W F A T B FTN T TR A Q@ WE ¥ @R
F ey W faR o @ 2, P AR T 2,60,000 AR TR T WA D WA AR 20,000
mamﬁyaﬁﬁa%uﬁwﬂw% 60,000 ¥ W 9§ A AW TS B W
2w W O T @ Ry 80,000 T A Yy A E B, SR T IOW AW W A FH
%mma&RM%%IWﬁezwmmmﬁmm%lafﬁﬁm
FRT W = 12% W a8 @ ReE @ 9Wie 31w Wi @ Seen W et

OR
o
(a) Why is conéideration of time import.ant in financial decision making?
ﬁ%ﬁﬂﬁﬁ#ﬁ%i‘fmmﬁwﬁm@%?

(b) A company is considering the purcha‘se‘ of a machine costing Rs.5,00,000 with a life of :
5 years, after which it can be sold for Rs. 1,00,000. It will require an initial investment
of Rs.20,000 in workmg capital. Additional working capltal of Rs 20,000 will also be
required at the end of the first year. Tax rate for the company is 40 % and it uses
stralght line method of depreciation. Its cost of capxtal is 12%. Advise the company about
the profitability of the project using NPV method. The expected profits before depreciation

and tax are as follows

Wear k. 1 : 2 3 4 5

PBDT. (Rs.) | 1,50,000 2,00,000 2,00,000 | 1,50,000 l'l,O0,000

(5,10]

waﬁsa&%aﬁw%msooooo T F A T AT ey W R W @ 2
i a1 T8 1,00,000 T A I O wehe 31 TSR o A GO K 20,000 T & TaI
ﬁ%ﬂa&aﬁmsﬁmﬁaﬁ% mizuoouwaﬁaﬁﬁaﬁmﬁaﬁamaﬁﬁmﬁ |
B R @ o R w 40% B ﬁtugwmaﬂetquﬁmwm%lﬁﬂ
waﬁm 12%%|maqaﬁmmﬂmmqﬁaammaam%aﬁm
mtwmaﬂ?aﬂ%qzﬁaﬂﬁammm%’
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Year 1 . 2 | 3 ] ISP . 5

PBDT (Rs.) 1,50,000 2,00,000 2,00,000 1,50,000 1,00,000 |

(5,10)

2. (a) Explain the behaviour of cost of debt, cost of equity and overall cost of capital under the

| traditional approach to capital structure.

mm%mgﬁaﬂw%mmaﬁm gﬁaﬁaﬁtaﬂmaﬂtnﬁaﬁwm%
EER W A it | '

(b) XYZ 1td. is evaluating two financing plans. Assuming a 50% tax rate and an expected_
EBIT of Rs 4 lakh, calculate:

(i) The EPS for each plaﬁ,
(ii)) The ﬁnancial break-even point for each plan,

(111) At what level of EBIT would the company be indifferent about which of these two

. plans is selected.

Plan A Plan B

Bonds ' Rs.80,000 at 9% Rs.1,50,000 at 10%

10%- Preferehce stock 4,000 shares of Rs 60 each | 2,000 shares of Rs 70 each

20,000 shares | - 23,000. shares

Common stocks

(5.10)

Hzﬁﬁ%z%ﬁaﬁwwﬁmﬁwwaﬂmél SO%ﬁaﬁaaﬂtamtﬁa‘:

agmﬁa EBIT # #FR &Y, AT e _
P.T.O.
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(ii) mm%mﬁﬁqw aramﬁg

(iii) EBIT%WWWMH%W&%%ﬁﬁ?&WWW% R ¥

BN

" Plan A

Plan B

Bonds

Rs.80,000 at 9%

Rs.1,50,000 at 10%

10% Preference stock

4,000 shares o:f Rs 60 each

2,000 shares of Rs 70 each

Common stocks

20,000 shares

23,000 shares

OR

A

(a) Investment, financing and dividend decisions are interrelated. Comment. -

P, R s i i TR 9 T ) R i

~ (b) There are two firms which are identical in all respects except in terms of their capital
structure as can be observed from the details given below:

~ Particulars _Lever_ed compaﬁy (L Ltd.) Unlevéred- comi)any (U Ltd.)
- EBIT . Rs. 1,00,000 Rs. 1,00,000

Debt @ 10% . RS:S.;O0,000 2

'Equity qapital_iz;'cltion rate(Ke) 116 % 12:5 %
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5

Calcul ' } -

e tac:e the value of the two firms and explain how an arbitrage process would be
i . _
ated according tq MM Approach of capital structure. When will this process stop?

(5,10)

ﬁﬁ%ﬁaﬁqﬁmﬁ@mwm%w%ﬁmﬁ?ﬁ%ﬁqwﬁﬂw%m

W e 8-
Particula vered '
rticulars Levered company (L Ltd.) [Unlevered company (U Ltd.)
EBIT b Rs. 1,00,000 : Rs. 1,00,000
Debt @ 10% Rs.5,00,000 i -
Equity c_:apitalization rate(Ke) | 16 % 12.5 %

aﬁﬁﬂmaﬁmaﬁﬁwaﬂtwﬁwﬁméwgﬁﬁw%aﬂmmm
%@rgaaﬁmm‘hluguﬁ?Waﬁ@ﬁ? '

_(a) What are the principal motives for holding cash? .

qd TE B A e I ¥7 |

(b) The cost sheet of a.'companylprovides you the following estimated cost per unit

Cost Elements Amount per unit (Rs.)
Raw material 10

Direct labour 4

Overheac_ls 6

Totai-j éost 20

P.1.0:
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Additional information:’

e ———

- Rs. 25 per unit

Selling price

: pol 1,56,000 units per annum
Level of activity -

i - weeks
Raw material in stock Avgrage 4 we

Work in progress : Average 2 weeks

Finished goods in stock Average 4 weeks

Credit allowed by supplie,rs | Average 4 weeks.

Credit allowed to debtors Average 8 weeks

Lag in payment of wages I : Average 2 weeks

Cash at bank is expected to be SO ~ Rs.50,000

Production is carried out evenly throughout the year (52 weeks) and wages and overheads
accrue similarly. 25% of sales are on cash basis. You are required to prepare a statement

of working capital requirement. ° ' : : B _ : (5,10)

Cost Elements X : Amount per unit (I.{s.:)
Raw material - ! _ 4 10-

Direcf labour Ry : _ 4.

Ovefhc-aads' G 23 I ’ 6

Total cost o ._ 20
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Selling price _ | Rs. 25 per unit

Level of activity 1,56,000 units .pcr annum
- Raw material in stock , - Average 4 weeks

Work in progress ' Average 2 weeks

Finished goods in stock - Average 4 weeks

Crt?dit allowed by suppliers Average 4 weeks

Credit allowgd to debtors’ Average 8 weeks

Lag ip payment of wages | Average 2 weeks

Cash at bank is expéc.ted to be Rs.50,000

IAET | W (52’%)%@%%?@%@?%@?@(@%@%@%&%@%%}
25% fd T mwﬁﬁ%nmmﬁaﬁmwﬁwﬁmmm{

OR

Jreqdn i
Write short notes on the following:
(i) Operating cycle
nagement

(ii) ABC system of inventory ma

(iii) Permanent and Temporary working capital (5,5,5)

P.T.O.
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P W Rl R
(i) weT =

(ii) T e R SO

(iii) it AR e HEAE o

4 (a) How is optimum dividend policy determined u'nd'er. Walter’s model?

m%ﬁ%ﬁ%mm-mfﬂﬁﬁﬁlﬁuﬁaaﬁmﬁ?

(b) Following information is given to you about ABN Ltd.

Sales .

Rs. 10,00,000

Variable cost

Rs. 7,00,000

Fixed cost

Rs. 2,00,000..

Capital structure:

Equity shares of Rs.10 each

Rs.10,00,000

7% Debt Rs.5,00,000.
99 Preference shares " Rs.2,00,000
Tax.rate 25%

Calculate the op_erat_iﬁg-, financial and combined leverages.

By what percent should the sales increase, if the firm wants to double its earnings before

interest and tax (EBIT)?

(5,10)
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wieT RS & R ¥ s e s @ T

fasit - <. 10,00,000
 RedHa e - ¥ 7,00,000
f@mm - ¥ 2,00,000
TR wRE:
10 T TS & e ;W - 10,00,000 T
’{% Eﬁﬂr - ' Sales & | ¥ 5,00,000
9% YFE W - | Iz,ou,ooo TR
H H W - 25% |

aﬁ@ﬁ,ﬁﬁﬂsﬂtﬂgﬁmaﬁmml

uﬁm‘ﬁm ﬁtﬁ(EBﬂ)%%ﬁmmaﬁaﬂmmm% o O J frem it
% gfe o e :

OR
Jerar
(.) Discuss the relevant costs whlch affect calculation of economic order quantity.
a) Disc

mmuﬁwsmmmﬁmsmms.

( .KOL 1td wants td increase its current annual sales of Rs. 30,00,000. The selling price
(b)

duct is Rs.300 per unlt and the variable cost is Rs.200 per unit. The fixed cost
of the pro

The present
3,00,000 per year.
i of the sales become unrecoverable

credit period offered to its customers is one month.

At present 1%

P.T.O.
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-

10

It is estlmated that the sales can be increased by 15%, if the company increases the credit
period to 2 months. But this change in credit policy will increase the bad debts to 3%,
Advise the company whether the proposed credit policy should be implemented given that
it’s minimum required rate of return is 20%. ' ‘ (5,10)

2. 3. va. fifes 30,00,000 TR Mﬁwaﬁa:ﬁsﬁi’tgﬁ:mmﬁ%tmmﬁm'
T 300 T W AT ® ﬁtqﬁaﬁumzoomﬁwﬁqﬁf%lﬁﬁaﬂmuﬁaﬁ 3,00,000 |
T B mmﬂaaﬁwmmmw#aﬁ%mﬁw%ﬁﬁm%

& W R

u‘gaﬂﬂﬁmm%%uﬁm%@z mﬁaﬁzﬂaﬁaﬁm%ﬁ%é’rﬁaﬁi‘r 15% &
q&ﬁaﬂ%lﬁﬁﬁﬁﬁtmﬁﬂ?wmaﬁ?ﬁ 3% @ TG M FE D EWE
aﬁqﬁ?wmﬁa%@aﬁﬁaﬁmﬁmmw@tf w%ﬁ%@ﬁﬁaﬁaﬁwm
= 20% 2. : |

(a) Why is debt the cheapest source of finance for a profit-making company?-Can a firm go

for 100% debt financin_g?

o B R A g R e v dw 27w A W 100%
Wﬁ?‘?ﬁﬂﬂﬁ?ﬁﬂ?ﬂ?'ﬂaﬁﬁ%? ' 4

(b) As per'MM approach the payment of dividend does not affect the value of the firm. Use

the data given below to prove this statement.

_Numbef of _out’stancl_ing shares : 25,000
A Earniggs per _share ™ ' . Rs.10
‘Ke o : S5 _ ' _-'10%
P/ﬁ ratio . ; - . 10
Expect;:d diviaend per share . i e ks_s

New Investments R R S T Rs.5,00,000 - (510
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g S
FTH & g %mmmww%@@mw&wamwﬁm

25,000
Wi ?ITR g _RS -
3% |
10%
Thd | | 10
o s ' ' Rs.5,00,000
OR
Al

(a) What is ‘i_nformational content’ of dividend payment?
A S & ‘guoTE ae o 87

(b) ABC ltd has the following book’ value capital structure

-_ Rs. in lalfhs
Equity capital (in shﬁreé ;)f Rs 10 gach fully paid up at par) 20.
I;etained'eérliingé | - | 5
12% preferencc capital (in shares Rs 100 each flllly.p'gild up at par) :
10% de_béntures (of Ré 160 each) 6 _.

' 1 1% term loan

P.T.O.
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261 , :
{ dividend 00 shares is Rs 3 per share 4nc! s SXpected 1y 8row at ¢
Bhoe] eWecmmarkct price per share is Rs 30. Preference stock redeemab]e after 1;
rate of 6%- Th:-'l " ling 2t Rs: 75 per share. Debentures redeemable after 6 yeqy, 5
i Cl;wnsoyper debenture. Income tax rateé for the company i1s 40%, Compute th:
t RS. |~ ajiE 5 i .
Selllﬂhg ::j average cost of capital using market value proportions s i
weighte : :
o e 2 |
i s & T e 59 e T W
E T ¥
m@@gmﬁ%ﬁﬁﬁmm@aﬁﬂwmw) 20
e @ ¥
129 fexe g (I ¥ 100 T e,y W WO ) 5
10% Fe¥=R (V% 100 T F) , | 0.
11% @@t =9 | e kg B

_ i\ﬁmma&%,ﬂxs@uﬁﬂw%aﬂt6%3%?(%3@%@3@3%131%%'313:!
1@30@%11ummﬁaﬂaﬂﬂ‘ﬁ\wﬂﬁwwaﬁqﬁ 75 T W I ¥ RBF @ R

e e R v R o0 < o R e @ 1w e R T
2 aR @ FEIR A I FHE FY OGN A MRS Aaq AW A ITOET R

(10,000
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L. How is equilibrium determined in the financial market

in the classical framework? (5)

Or

Given the following information:

Consumption: C = 100 + 0.8 Yd, Investments
= 250, Government Expenditure: G = 200, Transfer
Payments: R = 150 and Taxes = 300

Find :
(a) The equilibrium level of income. (2)
(b) Find the value of investment multiplier. (2)

(¢) Find the equilibrium level of consumption. (1)

2. Given the following information :

Transaction and Precautionary Demand for Money
[k(y)]: 0.5Y

The Speculative Demand for Money [-1(r)]: -501
Price Level : 3

Consumption: C = 200 + 0.75 Yd
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Investments: I =200 - 25
Taxes: T = 300
Transfer Payments: R = 100

Government Expenditure: G = 200

Find and show through diagrams :

(a) The Equations for IS and LM curves. (3)

(b) Equilibrium level of income and the rate of

Interest. (3)

(c) The new equilibrium level of income and the rate
of interest, if the Government expenditure is

increased by 50. (3)

(d) The decline in income due to crowding out
of private investment because of increase in

Government expenditure by 50. (3)

(e) The decline in private investments owing to the

rise in Govt expenditure by 50. (3)

Or

R 1.0,
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Given the following information :

Consumption: C = 100 + 0.5 Yd
Investments: I = 400 — 101
Taxes: T = 100

Transfer Payments: R = 100
Government Expenditure: G = 150
Demand for Money: Md = 0.5Y
Supply of Money: Ms = 4500

Price Level: P = 10

(a) Find and show the equations for IS and LM curves

through diagrams. 3)

(b) Find and show the equilibrium level of income and

the rate of interest through diagrams. (3
(¢) Estimate the budget surplus or deficit. (3

(d) If the Government expenditure is increased by 50,
determine and show the income and the rate of

‘nterest associated with the new equilibrium

3)

through diagrams.
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(e) Estimate the change in budget surplus or deficit
due to the rise in Government expenditure by
50. (3)

3. What 1s an LM curve? Explain its derivation and

factors responsible for its slope and position.

Or

Explain the derivation of aggregate demand curve from
the IS-LM Model. (10)

4. Critically examine the Quantity Theory of Money.
Or
Discuss, Tobin’s portfolio theory of demand for

money. (10)

5. According to Keynes ‘the demand for money arises
from the Bears in the market’, explain with suitable
diagrams.

Or

The power of High powered money increases with
the rise in cashless transactions. Explain. (10)

P.T.O.
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QIF: C =100 + 0.8 Yd, f43w: 1 = 250, wwa@t =7 -
G = 200, ™M@ FEEE R = 150 3 & = 300

fAaforg -

(i) sm @ g (2)
(ii) Fw e @ w= e A (2)
(iii) I w1 g TR A Hf ()

»  frfafas wHE @l @A 7Y
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3 @ e srafd . Ms = 900

qfq"&r{:’}r

P.T.O.
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| C =200 + 0,75 yq

Faw: 1= 200 _ 25i

FT = 300

(F) snfea ok vaen @@ @ i whiw (3)
(|) 3@ =1 9999 = 3k =re = (3)

(71) HIE T T FIET TR AR = A o, A wewd
=a ¥ 50 #t afg & W 2 (3)

(9) #F1@ =3 ¥ 50 @ afe & Fwor frd Fw w1 W
FH ® OERT 3 A finae | (3)

(3) #@@ =@ ¥ s0 # gfe B Fww fen fFEw ¥
firrae | (3)
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Qg - C =100 + 0.5 vq
ﬁ’aﬁl: I =400 - 10i

F: T = 100

R D wm Md = 0.5Y
R A s Ms = 4500

T &: P=10

& faw

F) @ @ Wow A I IR vEeR T |
3

| whan fEfy s Zai (

! I F A
: o v 3

& dgdad &

(@) 3™ d

()
3 fafag ok Faid

(3)
e s @ we I
(71)

p.T.0.
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L. How is equilibrium determined in the financial market

in the classical framework? (5)

Or

Given the following information:

Consumption: C = 100 + 0.8 Yd, Investments
= 250, Government Expenditure: G = 200, Transfer
Payments: R = 150 and Taxes = 300

Find :
(a) The equilibrium level of income. (2)
(b) Find the value of investment multiplier. (2)

(¢) Find the equilibrium level of consumption. (1)

2. Given the following information :

Transaction and Precautionary Demand for Money
[k(y)]: 0.5Y

The Speculative Demand for Money [-1(r)]: -501
Price Level : 3

Consumption: C = 200 + 0.75 Yd
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Investments: I =200 - 25
Taxes: T = 300
Transfer Payments: R = 100

Government Expenditure: G = 200

Find and show through diagrams :

(a) The Equations for IS and LM curves. (3)

(b) Equilibrium level of income and the rate of

Interest. (3)

(c) The new equilibrium level of income and the rate
of interest, if the Government expenditure is

increased by 50. (3)

(d) The decline in income due to crowding out
of private investment because of increase in

Government expenditure by 50. (3)

(e) The decline in private investments owing to the

rise in Govt expenditure by 50. (3)

Or

R 1.0,
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Given the following information :

Consumption: C = 100 + 0.5 Yd
Investments: I = 400 — 101
Taxes: T = 100

Transfer Payments: R = 100
Government Expenditure: G = 150
Demand for Money: Md = 0.5Y
Supply of Money: Ms = 4500

Price Level: P = 10

(a) Find and show the equations for IS and LM curves

through diagrams. 3)

(b) Find and show the equilibrium level of income and

the rate of interest through diagrams. (3
(¢) Estimate the budget surplus or deficit. (3

(d) If the Government expenditure is increased by 50,
determine and show the income and the rate of

‘nterest associated with the new equilibrium

3)

through diagrams.
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(e) Estimate the change in budget surplus or deficit
due to the rise in Government expenditure by
50. (3)

3. What 1s an LM curve? Explain its derivation and

factors responsible for its slope and position.

Or

Explain the derivation of aggregate demand curve from
the IS-LM Model. (10)

4. Critically examine the Quantity Theory of Money.
Or
Discuss, Tobin’s portfolio theory of demand for

money. (10)

5. According to Keynes ‘the demand for money arises
from the Bears in the market’, explain with suitable
diagrams.

Or

The power of High powered money increases with
the rise in cashless transactions. Explain. (10)

P.T.O.
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QIF: C =100 + 0.8 Yd, f43w: 1 = 250, wwa@t =7 -
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fAaforg -

(i) sm @ g (2)
(ii) Fw e @ w= e A (2)
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l. (a) Find the coefficient of skewness from the following information:

Difference of 2 Quartiles = 11, Sum of 2 Quartiles = 25

Mean = 13, Mode = 10 (5)

ﬁﬂ%fiﬂﬁﬁﬁﬂﬂ%ﬁﬂﬂ{[ﬁﬁmuﬁﬁm

2 IgUW W SR = N, 2 ugW W A = 25

]

W = 13, TgEE = 10

(b) A person purchased petrol at the rate of Rs. 92, Rs.94, Rs.96 and Rs.99 per litre for 4
successive days. Calculate the average price of petrol. '

(i) If he spent Rs. 1000 daily, and

(1) If he purchased 20 litres of petrol daily. (10)

waﬂaaiozwit,wmit%mmwm&wﬁ%ﬂaaﬂﬁﬂmd
ﬁ#mﬂmmlmaﬁuﬁdfﬁﬁauﬁm.maﬁmmm

(i) aR 38 1000 P A =F B, sk
(ii) af =5 T 20 AR Wi whem 2
OR

Hqar

(a) Define Harmonic Mean and state two areas. where its use is considered appropriate



(5)

mmﬂmmmmamm\mmwmmmm
t

(b) The tollowing data relates for 2 companies. Combining the data for groups of male and

female employee find out
(i) Which company has a higher average productivity per employee, and

(i1) Which company has more consistent productivity.

Productivity per employee Con;pany A Company B X
j Male Female Male Female \
Mean Production units \ 40 40 42 32
Variance 1 _ 8 3 12 -5
YND. of Employees 20 | 30 40 10
(10)

mmzﬁﬁﬁ%miuw@tmmﬁﬁﬂﬁﬁmﬁﬁﬁ

farae A T
(i}&aﬁﬁﬁuﬁmﬁﬁﬁaﬁmmﬁmm%,m
(i) R @ IEEEH st gET@ B

P
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(a) Explain with example independent and .dependcni events.
JAET T WA WET AN AP weASA W wmren SR

(b) The monthly wages of 2500 workers are normally distributed
deviation are Rs 15,000 and Rs. 1000 respectively. Estimate:

. Its mean and star

(1) The percentage and number of workers getting wages above Rg 17,000.
(i) The percentage of workers getting wages below 14,000,
(111)) The number of workers getting wages between 14,000 and 17 000

2500MWﬂrﬁmﬂ?ﬁmm%ﬁﬂﬁaﬁwm%r

TEH W ik 3
e wa 35»00@3&:1000@?13%%

(i) lw,oouwﬁ%mmqﬁu@_mwmmm|



—
n

(i) 14,000 ¥ wH ATT T a@ sfm @ wfEeE

(iii) 4,000 3 17,000 F A Ao v A s i wEm
OR
Jrera

(a) For a normal distribution first moment about 10 is 40, and the fourth moment about 50 is
48. Find the mean and Standard deviation of the distribution. (5)

vE W e @ AU YEST S SANWr 10, 40 ®, 3R Wt sw SAnE 50, 48 B
faseor =& wem ¥R AWe fauew T @

5) The distribution of typing mistakes committed by a typist is given below assuming a
Poisson distribution. Calculate the expected frequencies:

Mistakes per page Number of pages

0 | 154

1 . 160

2 105

3 70 |

4 10

5 1 (10)

P.T.O.
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! 160

: | 105
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5 1

(a) Explain the concepts of time reversal test and factor reversal test and show that
ideal index satisfies both these tests.

mﬁuﬁakmﬂwﬁuﬁahﬁmsﬁﬁmwmﬁmﬁ
T A S T A OEU W A w2

(b) Given below are the daily wages of a group of workers during 2012-20. The C
Price Index(CPI) for these years with 2012 as base are given below:



271
™ (_Yw 2012 | 2013 | 2004 | 2005 | 2006 | 2017 | 2018 | 2019 | 2020
| CPI 0o | 108 | 1o | s | 120 | 125 [ 130 | 140 | 150
Daily 600 620 630 650 | 680 725 750 830 900
Wages
(1) Determine the Index number of real wage of workers as compared with 2012=100
(i1) Determine the purchasing power of rupee for the year 2020. (10)
2012-20 ® WA AR D vE W A ME wwgh AA A W B 2012 W FER AT
oA # v omie we geerE (@fard) 99 Rar war
LI 2012 ‘ 2013 | 2014 | 2015 | 2016 | 2017 | 2018 | 2019 | 2020
Ardtans 100 108 110 115 120 125 130 140 150
M= 600 | 620 | 630 | 650 | 680 | 725 | 750 | 830 | 900
sher’s wogd |
(5)

. (i) 2012:100&@*%#%@#%@%%1
(i) =4 2020 % fow w92 9 wa W = Fufor Fif

nsume
OR

P.T.O.
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(a) Between 2010 and 2020 the price of a commodity 18 ,m_rcllﬂbfd :,ducliﬂn of the commodity
15 decreased by 20%. By what percentage did the value ol p (5)

change with respect to its value in 2010,

WiZO%
2010#!20:0%%?&;@!%%*7"'”"?'!&!{#’3;:%11%%#
W g mlniﬁq%aﬂmﬂwﬂ‘mwu}m
LS.

e e . : " an average working-
(b) The following are the Broups index numbers and group weights OF:AR oht i geometric
: : e
class family's budget. Calculate the cost of living index number using Weg

mean.
Group Index No. Weight

Food 250 35 -
Clothing 220 20

Rent 180 20

Fuel and lighting 150 10

Miscellaneous 170 15 (10) i




— g w A
wE
G 250 35
i 220 20
T 180 20
U IR W Saed 150 10
fafaa 170 15

(a) Define trend and discuss the various methods of measuring trend in a time series. (5)

¥ = vRwNe S R W ogEe A 38 = W 3 AfvE afe w = Fie

(b) Fit a straight-line trend to the following data taking 2016 as origin year.

Year 2016 | 2017 2018 | 2019 | 2020 | 2021

Production(in Tonnes) 20 22 25 35 28 25 (10)

2016 T Ife @ B W A wea g el wws & fow v @ o 2w oW fae
Fl

e 2016 | 2017 | 2018 | 2019 | 2020 | 2021

I (z9 #) 20 22 25 35 28 25

P.T.O.
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OR
Jreran ]

: . ime series.
Ly ) . ai 5158 Of tll:l‘lc
(a) D‘S““EUISh.bcIWtzcn additive and multiplicative models in the analy (5

mmgﬁ'@w*ﬂwmmﬂmﬁﬁwml

igin i
(b) The trend equation for the yearly sales of commodity X with Ist July 2020 as ong
given by

Y, =2400 + 576 x + 172.8 X2
where X unit = 1 year

(i) Determine the monthly trend equation with January 2021 as origin.

(1) Compute the trend value for the month of March 2021. (1

T F WX qd 2020 B Ay

ﬁxﬁmm%ﬁva‘saﬂmmm
fRar mr 2

Y, = 2400 + 576 X + 172.8 X2

el X g = 1 af

(i)qaﬁmﬁaauﬂaozlﬂmmfzmﬁuﬂﬁﬁl

(ii)ﬂzozrﬁﬁvi‘sﬂqﬁmuﬂﬁm
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g values based on the

the followin
(5)

ce of correlation coefficient for
and +0.8

5. Test the si nifican
s : and (b) 225 and r = +0.5

number of observations (a)25

(a) 25 3 (b) 225 I I
ﬁﬂﬁfﬂﬂﬂq‘%fmw

(b) A computer while caleculating the correlation coefficient between 2 variables X and Y

obtained the results-

= 250, XY = 356. It was, however, later
(12,7) while the correct

lation coefficient. (10)

a = 30, X = 120, £X? = 600. TY? = 90, LY?
discovered that it had copied 2 pairs of observations as (8,10) and
values were (8,12) and (10,7). Obtain the correct values of corre

ﬁmizmxmy%ﬁam!ﬂ%ﬁaﬁmmﬁgmmﬁm-

n =30, IX = 120, £X? = 600. ZY = 90, EY? = 250, EXY = 356. ®Ieiiish, % H g8 g
o @ 2 g s & wmv@ @ & (8, 10) AR (12, 7) wafs €61 A

(8, 12) #k (10, 7) ¥ wWEHEy TONH & w8 W e (10)
OR
-
(a) State the properties of regression coefficients. (5)

O AOE @ 0T @
(b) Given the two regression lines
X+2Y -5=10

2X +3Y-8=0
P.T.O.
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and Variance of X=4

Find (i) correlation coefficient

(i) Standard Error of Estimate for Y on X
(1) value of X if Y = 29 and

(iv) value of Y if X = 49
ammﬁ?ﬁ%ﬁﬁgﬂ
X+2Y-5=0
2X + 3Y-8=0
W x = a4 = fa=w

Frafee (i) wwa qorias

(i) X WY B g sgm & w3

(i) X & 79 af? Y = 20 3k

(iii)) Y @1 7 2R X = 40

(1

/N

(40
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1
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a9 g afFEd ?)
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W WH-TT F IW HAN B R v v ¥ AR,
AT o I = M vE B B Tlke

What do you mean by Entrepreneurship? Why is

entrepreneurship considered as a Creative Response

to Society’s Problem?

A A A T W 27 IufEr w w8 e @
fore e wiaferar =@ s o 29

OR
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2. (a) State various attributes of entrepreneurs:

wﬁﬁﬁﬁﬁﬁﬁﬂwﬁmaﬁﬁaﬁﬁm

(b) Explain the concept of Entrepreneurial Motivation.

STl WO HEUROT & 1

OR

P.T.O
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Explain the entrepreneurial Mind-set jp the

contemporary Business Scenario?Also discuss the

mechanism of coping with high risk-propensity of an

entrepreneurs,



267 ) S

OR

(a) What is Make in India Initiative? why is it essential

for the survival of Indian Economy?

ﬁa?aﬁmm@r%?ﬁnﬁamﬁttﬂﬁa
?ﬁ%mwﬂ-m%?

(b) Discuss the role of Self-help groups in the

promotion of entrepreneurship in India.

WRE # Jufrar & dadq ¥ g werer i @ i
o |

r.1.0.
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4. How business ideas are generated? Discuss 4,

mechanism of idcmifying a business opporlunity in

your surroundings where you are placed.

Wﬁwﬁ%mﬁ%??aﬁm-wwm
ww%,aﬁmm%mﬁwaﬂ%%aﬁw

|l Fiferg)

OR

Develop a business Plan to produce designer shoes

for women meant for high-end Customers.

Hf@mﬁ%%vﬁmﬁ%%vﬁmm@ma}
ﬁ?wwzﬂmﬁmaaﬁml
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5. Describe the steps in developing o Munngement
succession plan for a growing business that sllows &

smooth transition of leadership to the next generation?

v g wan & R vy gefiesn droen fafa
= R Tk Wl R W A B o g
F UF wEW URaed B sy 27

OR

Explain the inherent strengths enjoyed by family

business. [s there any need for succession planning in

family business?
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mﬁmﬁwmmaﬁﬁﬁawaﬁ%%
w%ﬁﬁﬁaﬁw#ﬂﬁmwﬁﬁaﬂm%? |
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v R e w87 R wwe R W R
o et ffd o o A

2. (a) Enumerate the various appeals that can be |
considered while preparing an advertising COpy
with examples.

R W AR S e R sfe W RER
fFar w1 wEa 2, IR IeEON WRd gEEE Hifw|

(b) What is meant by advertising media? Discuss the .

advantages and drawbacks of Internet Advertising.

fasmas At = = 3 7 Fe@e Reww B WW ik
FHaar &t w=t S

OR

e

(a) Explain the factors influencing selection of media

Suggest which advertising medium/mediaand
specific channel/sare best suited for advertisin
the following products: )

(l) DS LR Camera

(i1) Sport Utility Vehicle (SUV)



272

(b) What is an advertising copy? Explain the various
types of advertising copies.
va e why = 27 e yEr @ e i
i A g

(a) Why do we need to measure advertising
effectiveness? Explain the post- testing methods

of evaluating advertising effectiveness.

N s avEdedr AN @ AEEEar a4 87
AT WWTEEEET & eI e ke efeeT e
Rl e

(b) What are the functions of an advertising agency?
Briefly explain the various types of advertising

agencies.
P.TI0).
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(iii)Bases for Target Audience Selection

(iv) Benefits of Sales Reports

(v) Types of Salespersons

(T

(vi) Outdoor Advertising ‘(3 x5=13)

P ¥ ¥ el o w wera ol fafee |
(1) Ww@aaﬁqaﬂw

(ii) AR e

(i) i o & v @ fo s | |
(iv) ¥ea RAE &

(v) T F R

(Vi) 3TER s
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IR & WEEH U B e =Iey |
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1. (a) What do you understand by marketing? Discuss the
marketing concepts that have guided the marketing

decisions. (8)

(b) Why does a marketing manager need to understand
marketing environment? What are the main elements of
the n;acro-environment affecting marketing decision?
Explain briefly. (7)

OR

(a) Explain the concept of marketing mix. As a marketing
manager of airlines company how would you plan the

marketing mix? (®)

(b) Why is marketing so important in today's world to the

business firms and to the society? Elaborate. (7)

(%) R & s o oo & ? Rgoer dand fofay o fa 23
aelt v whers @t e #if

(@) R yaus & e fgee s 2 s =) s
Bt 2 7 o foly 6t sifae e @ geqmatmn @ e
e e # 7 gAY A wren iR

Srerar

1206 3

() fgve fw & dween o =wen 900 | o B
& e wEuw @ w0 F Rove @y @ e sw B
w7

(@) = fve ¥ s w6 i sk T @ g R sy
HEwaqoi § 7 e it |

2. (a) What are the essentials for an effective segmentation?
Explain geographic and psychographic bases of
segmenting the market. (8)

(b) Does the consumer go through a definitive decision
process while buying a‘laptop? Give reasons. Also
discuss the various stages of consumer buying decision
process. (7

OR

(a) How does the selection of target market and product
positioning assist the marketing manager in making
prudent decisions? (8)

(b) Why is there a need to study consumer behaviour? What
are the personal and psychological factors which affect
consumer behaviour? @))

P.T.O.
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(%) o el ® FfEd e W A ¥ 7 Ao b wE
& i it TEgETE SR W e i )

(@) T TEE W AT @der wwm Fraww fofa wfE @
o Ean @ 7 wror Ao | e § I # e ol
Wi = Rt smenst & W fade il

Jreran

(%) e AR AN SR I W W W W R e
fwafs fofr 3 ¥ fRove wives o T w2 7

(w)mmmmmﬁﬂmﬁ%?
mwﬁmmwmmm
FRE I AR

(a) Define product. Explain the classification of products

with examples. (8)

(b) What do you understand by Pricing? Explain cost-based
and demand-based pricing. (7)

OR

1206 5

(a) “The market today requires setting a systematic new-

product development process”. Discuss. (8)

(b) Discuss various factors that a consumer-goods marketing

firm needs to consider while setting the price. (7)

(%) S @t afwrar Afvg 1 Jewer 2 gr TR @ it
=R o |

(@) #rm-fuior 3 s @ e ¥ 7w smaRa s st
Frenfta & Fufor o sren e |

Jreran

(%) AR A st wrafeam a9 - e e wfa w® el s
 mEvaEar # | fdas i |

(@) #a 7 F@ e gosie - el o AeE F a
w fom faftsr wewt w far wen wea @ 9 Rdee
Ty |

(a) Explain the importance of channels of distribution in
marketing of products. What factors affect the choice

of channel of distribution? (8)

P.T.0.
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(b) What is a promotion mix? What promotion mix would

you suggest for the following produgts? (7)
(i) Smart-Phones
(i1) Water purifier
OR

(a) “Store-based retailing has assumed considerable
influence in modern-day marketing.” Discuss the above
statement with reference to various types of store-based

retailers. (8)

(b) What are the challenges faced by the marketer while
marketing goods and services in rural markets? Give

suggestions to overcome these challenges. (7)

(=) et B fwor ¥ feor ot wfrdl @ wEe wwaEg | e
W & T W AT A EwE g W@ w7

(@) v fs @ B @ 7 Frefaias e & fow s R
Haue fow @ g@a 9

(i) = W=

(i) et - ol

$.

1206 -

Srerar

(=) "mmﬁﬂqmwermﬁ o o
mmﬁmiwﬁhwm%w}z-mwmﬁ
w W A gufu wwr o P i

SRR LR R T IS W pay e cm—
‘“"ﬁ“’memmn

Attempt any three of the following : (5,5,5)

(1) Integrated marketing communication
(i) Marketing of Services

(iii) Online marketing

(iv), Market skimming pricing and penetration pricing
Feferfrs o & Pl oty ) wifone

(i) wifve Py ware

(i) ool wr P

P.T.O.
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(iv) o Refin Fwe Fufor @ T fem P
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